PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP MEETING April 21, 2015

6:11 P.M. **MINUTES**

The Following Items are for Discussion and Review for the Workshop Board Meeting:

- 1. Call to Order at 6:11 p.m. Board President, Mrs. Doris V. Graves
- 2. Reading of the Open Public Meetings Act Notice Board President, Mrs. Doris V. Graves

Statement-Board President

"This is to advise those present at this April 21, 2015 Regular Board Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on January 21, 2015 of the 2015 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call – Board Secretary, Mr. Elisha Thompkins:

Mrs. Bernice (Sandy) Couch Present Mr. Lawrence A. Davenport Present Ms. Silvia Landron Present Mr. Johnny McClellan Absent Mr. Paul Moore, Jr. Absent Ms. Sharnell S. Morgan Present Mrs. Ethel Seymore Present Mrs. Carla Thomas Present Mrs. Doris V. Graves Present

- 4. Flag Salute and Moment of Silence by Mrs. Ethel Seymore
- 5. Voices of the Children Introduced by Mrs. Doris V. Graves (not applicable)

March 10, 2015 (Regular Board Meeting) 6. Review of Board Minutes – Mr. Elisha Thompkins: **Board Secretary** March 17, 2015 (Regular Board Meeting)

March 24, 2015 (Special Board Meeting)

Motion by: Mrs. Ethel Seymore Second by: Mrs. Bernice (Sandy) Couch

Roll Call:

Mrs. Bernice (Sandy) Couch Ms. Sharnell S. Morgan Yes Yes Mrs. Ethel Seymore Mr. Lawrence A. Davenport Yes Yes Mrs. Carla Thomas Ms. Silvia Landron Yes Yes

Mrs. Doris V. Graves Mr. Johnny McClellan Absent Yes: 3/17, 3/24; Mr. Paul Moore, Jr. Absent

Abstain to 3/10 (Absent)

MOTION PASSED

Mr. Paul Moore arrived at the Board Meeting.

- 7. Workshop Items Presented by District Department Heads: Curriculum & Instruction Dr. Garnell Bailey and Mrs. Briggitte White (not present); Finance Mr. Elisha Thompkins, Jr.; Facilities Mr. William Marsh; Personnel Mr. Mark Delcher Dr. Garnell Bailey reviewed the process and work associated with revising and updating all the Curriculum units. Revisions are to be completed by June 30, 2015. The C & I portion of this Agenda was reviewed.
 - Mr. Elisha Thompkins presented two addendums for approvals and reviewed the Finance portion of this Agenda.
 - Mr. Dennis Mulvihill presented two addendums for approval.
 - Mr. Mark Delcher presented and reviewed the Human Resource portion of this Agenda.
 - Mr. William Marsh presented and reviewed the Facilities Usage Report.

Continued on page 94.....

8. Public Comments. Please limit comments to (5) minutes and all comments should be courteous and respectful.

9.	Motion to go into Executive Session Board President, Mrs. Doris V. Graves							
	Motion by	Second by						
10.	Executive Session							
	Motion by at that the Pleasantville Board of Education accordance with the provisions as set for this date in the session of the Board ANTICIPATED LITIGATION. BE IT FUR public at this time or a future meeting of items discussed.	th in N.J.S.A. 10:4-12 and 10:4-13. ⁻ d closed to the public: PERSONI THER RESOLVED that the discussion	The following sub NEL, PUPIL Ma On in closed sess	ojects shall be discussed on ATTERS, PENDING, AND sion will be disclosed to the				
11.	Motion to come out of Executive Session	- Board President, Mrs. Doris V. Grav	es					
	Motion by:	Second by:	Yea:	Nay:				
12.	Reconvene Board Meeting - Board Presid	dent, Mrs. Doris V. Graves						
13.	Motion to Adjourn the Meeting - Board Pr	esident, Mrs. Doris V. Graves.						
	Motion by:	Second by:	Yea:	Nay:				

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP MEETING April 21, 2015 MINUTES FINANCE AGENDA ADDENDA - FOR ACTION

WHEREAS, an announcement, during a Board Meeting, of the 2015-2016 Budget Hearing and Adoption date change
is required and for the record of Minutes. The Business Administrator/Board Secretary and the Interim-Superintendent
is requesting Board approval for a date change for the 2015-2016 Budget Hearing and Adoption.

BE IT RESOLVED, THAT the Pleasantville Board of Education approves the **rescheduling** of the April 28, 2015 Budget Hearing and Adoption **Session** of the April 28, 2015 Board Action Meeting from April 28, 2015 to **Tuesday**, **May 05, 2015 at 6:00 p.m.** in the Pleasantville High School Cafeteria. The date change is due the 2015-2016 Pleasantville Board of Education Budget requiring Atlantic County review prior to the Budget Hearing and Adoption. A revised Public Notice must be publicized no later than (4) four days prior to the 2015-2016 Budget Hearing and Adoption.

Motion by: Mrs. Carla Thoma	as	Second by:	Mr. Lawrence Davenport	Yea: <u>X</u>
Roll Call:		-	•	
Mrs. Bernice (Sandy) Couch	Yes		Ms. Sharnell S. Morgan	Yes
Mr. Lawrence A. Davenport	Yes		Mrs. Ethel Seymore	Yes
Ms. Silvia Landron	Yes		Mrs. Carla Thomas	Yes
Mr. Johnny McClellan	<u>Absent</u>		Mrs. Doris V. Graves	Yes
Mr. Paul Moore, Jr.	Yes			

MOTION PASSED

2. Resolution for the Pleasantville Board of Education to approve the following Board Members' attendance and Travel Expense Reimbursement in compliance with Travel Policy 6471 for the New Jersey School Board Association Special Education One-day Workshop at the Marriott in Princeton, New Jersey on April 25, 2015. Car-pooling for the attendees has been confirmed by Mrs. Ethel Seymore. Proof of valid Vehicle Registration, NJ Insurance, and Driver's License for travel and travel reimbursement will be on file in the Business Office. Therefore, reimbursement will be processed upon completion as required with Board approval. It has been confirmed that the District is not providing transportation due to the agreed car-pool being the most financially responsible means of transportation, for the Workshop is on a Saturday.

Board Member	Workshop	Date	Registration	Account# for Registration &	Location	Driver	Car-
Attendees			Cost	Mileage		/Mileage	pooling
Mrs. Ethel Seymore	NJSBA Special	April 25, 2015	\$200.00	11-000-251-500-0000-351	Marriott,	Х	
	Education	Saturday			Princeton, NJ	.31/mi x 153.51	
		•				miles (not to	
						exceed \$47.58)	
Mrs. Carla Thomas	NJSBA Special	April 25, 2015	\$200.00	11-000-251-500-0000-351	Marriott,		Χ
	Education	Saturday			Princeton, NJ		
Mrs. Bernice (Sandy)	NJSBA Special	April 25, 2015	\$200.00	11-000-251-500-0000-351	Marriott,		Χ
Couch	Education	Saturday			Princeton, NJ		
Ms. Sharnell Morgan	NJSBA Special	April 25, 2015	\$200.00	11-000-251-500-0000-351	Marriott,		Χ
	Education	Saturday			Princeton, NJ		

Motion by: Ms. Sharnell Mor	gan	Second by: <u>Mr. Lawrence Davenport</u>	Yea: <u>X</u>
Roll Call:			
Mrs. Bernice (Sandy) Couch	Yes	Ms. Sharnell S. N	Norgan <u>Yes</u>
Mr. Lawrence A. Davenport	Yes	Mrs. Ethel Seymo	ore Yes
Ms. Silvia Landron	Yes	Mrs. Carla Thoma	as <u>Yes</u>
Mr. Johnny McClellan	<u>Absent</u>	Mrs. Doris V. Gra	ives <u>Yes</u>
Mr. Paul Moore, Jr.	Yes		
MOTION PASSED			

Additional Addendums presented by Mr. Dennis Mulvihill, Director of Operations -

Mr. Dennis Mulvihill, Director of Operations, walked on additional project locations to the existing Finance Item Number 23 of this Workshop Agenda for approval.

Be it resolved by the Pleasantville School District that the district engineers, Remington and Vernick is authorized to prepare and submit "other capital projects" for the following projects:

- 1. Pleasantville MS Methane Gas Pilot & Monitoring Project
- 2. Pleasantville HS Running Track Replacement Project
- 3. Pleasantville HS Soccer Field Improvement Project
- 4. Washington Avenue Parking Lot- Walk-on to existing Finance Item Number 23
- 5. Leeds Avenue School Roof Walk-on to existing Finance Item Number 23
- 6. South Main Street School Roof Walk-on to existing Finance Item Number 23
- 7. Washington Avenue School Roof Walk-on to existing Finance Item Number 23
- 8. District Wide Camera System Walk-on to existing Finance Item Number 23

The district acknowledges that these projects will receive no state aid and further advises Remington & Vernick Engineers and Garrison Architects to amend the district approved LRFP to include these projects as required.

Resolution for the Pleasantville Board of Education to Approve Emergency Mold Remediation:

Later on April 21, 2015, according to Pleasantville School District's approved Air Quality Vendors (Coastal) submitting information reflecting a small mold issue in Room A105 (A/B) Middle School Classroom, an Emergency Mold Remediation is required. Mold Remediation will be completed by our District's approved Vendor (ServPro). Mold Remediation starts tomorrow (April 22, 2015), and the District will provide a copy of the Air Quality Testing after remediation to the Board and Atlantic County Office.

Motion by: Mr. Paul Moore	_ Second by: _	Mrs. Bernice (Sandy) Couch	Yea: <u>X</u>
Roll Call:			
Mrs. Bernice (Sandy) Couch	Yes	Ms. Sharnell S. Morgan	Yes
	Yes	Mrs. Ethel Seymore	Yes
Ms. Silvia Landron	Yes	Mrs. Carla Thomas	Yes
Mr. Johnny McClellan	<u>Absent</u>	Mrs. Doris V. Graves	Yes
Mr. Paul Moore, Jr.	Yes		
MOTION PASSED	<u> </u>		

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP MEETING April 21, 2015 6:11 P.M. MINUTES

The Following Items are for Discussion and Review of the following Finance Items for the Workshop Board Meeting:

- 1. Approval of the Bill List for March 18, 2015 through April 28, 2015 Warrant Account in the amount of \$3,940,768.04. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of Payroll for period ending March 13, 2015 in the amount of \$2,196,309.84. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of Payroll for period ending March 27, 2015 in the amount of \$2,180,313.37. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of the Transfers for Fund 11 account ending February 28, 2015 in the amount of \$12,477.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.
- 5. Approval of Transfers for Fund 15 account ending February 28, 2015 in the amount of \$84,556.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.

6. Certification of No Over Expenditures

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of February 28, 2015, no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- 7. Acceptance of the Treasurer and Secretary Reports for the month ending February 28, 2015. The Treasurer of School Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month ending January 31, 2015.
- 8. Approval of the April 21, 2015 Facilities Usage Report.
- 9. Approval of the of payment for emergency services rendered by Allied Fire & Safety Equipment for the Pleasantville Board of Education for the Pleasantville High School Alarm System for the replacement of the Main Fire Panel in the amount not to exceed \$10,640.00 with a Change Order Request for an additional amount not to exceed \$1,920.00 for Allied Fire & Safety Equipment Co., Inc. to Recreate Device List to match present day conditions and locations; the Grand Total for said emergency services is \$12,560.00. Account# 11-000-261-420-0000-352. (April 01, 2015 Quote Received and the Director of Operations informed the Atlantic County Office of emergency. April 13, 2015 Change Order received).

10. Approval of the payment to Multi-Temp Mechanical, Inc. for services of Boiler Replacement for Pleasantville High School in an amount of \$32,192.15; Account# 11-000-261-420-0000-352.

Background:

Two quotes received due to the amount exceeding the threshold. Services in compliance with Time & Material Bid Ed Data # 6052. (Two Quotes Attached.)

- 11. Approval of Pleasantville Board of Education to re-advertise for Spring Athletics Transportation Bid due to no Bids being received. The re-advertisement will be advertised as BID #PPS-14-35(a) Spring Athletic Transportation.
- 12. Approval of the Pleasantville Board of Education to Reject RFP 15-05 for Records Management System for Education of Pearson Education due to bid submitted being non-responsive according to Public School Contracts Law N.J.S.A.18A:18A-2, and in accordance to N.J.S.A. 40A:11-23.2 "Required mandatory items for bid plans, specification".

Background

The RFP 15-05 for Record Management System for Education was advertised in the Press of Atlantic City on March 18, 2015 and the Bid Opening was conducted on April 02, 2015 of which only one bid was received in which was Pearson Education; and under N.J.S.A.18A:18A-2 and N.J.S.A. 40A:11-23.2 the Pleasantville Board of Education is not to accept the bid, but can re-advertise.

13. Approval of the Pleasantville Board of Education RFP Special Education IEP to be awarded to <u>Centris</u> Group IEP Direct for the 2015-2016 fiscal year in an amount not to exceed \$20,130.

Background

The RFP Special Education IEP was advertised in the Press of Atlantic City on March 15, 2015, and RFP's were submitted by Centris Group IEP Direct and the Public Consulting Group. Opening was conducted on April 02, 2015. Said agreement with Centris Group IEP Direct reflects additional quotes for two additional years, both with no increase.

14. Resolution to approve Hartigan & Stafford Grant Professionals, to provide consultation services to the Project Director for the 21st Century Community Learning Centers Continuation 2015-2016 Grant. The services will include programmatic review, edits and provide recommendations for continuation 2015-2016 Grant retention. Service is not to exceed \$5,000 account# 11-000-251-330-0000-351. 15. Resolution to submit the FY 2015 NCLB Application & 2014 Carryover and Amendment #3 to revise the budget for the Project Period of July 1, 2014 through June 30, 2015

2015 Allocation		2014 Carryover	
NCLB Title I Part A	\$1,165,539.00	NCLB Title I Part A	\$167,957.00
NCLB Title II A	\$ 164,091.00	NCLB Title II A	\$ 49,061.00
NCLB Title III	\$ 137,616.00	NCLB Title III	\$ 37,107.00
NCLB Title III Immigrant	\$ 49,463.00		

Background:

The No Child Left Behind Act of 2001 (NCLB), a reauthorization of the Elementary and Secondary Education Act (ESEA)/Improving America's Schools Act (IASA), was signed into law on January 8, 2002. NCLB continues many of the goals set forth in IASA and incorporates additional principles and strategies for strengthening the pre K-12 academic environment. The measures included in NCLB require the following: 1) increased accountability for all responsible authorities - states, school districts, and schools; 2) greater school choice for parents whose children are attending low-performing schools; 3) more flexibility for states and LEAs in their use of federal education funds; and 4) a focus of resources on proven educational methods, particularly relating to early reading programs.

16. Resolutions to submit amendment for the FY 2012 Race to the Top, Phase 3 in the amount of \$63,422.43.

The State's comprehensive educational reform vision is to ensure that all children, regardless of life circumstances, graduate from high school ready for college and career. The Race to the Top Phase 3 (RTTT3) subgrant program will help New Jersey greatly advance its priority initiatives so this vision can be realized. On December 22, 2011, New Jersey received \$37,847,648 from RTTT3 to support the following initiatives: The development of a model curriculum by Fall 2012, aligned to the Common Core State Standards (CCSS) and with a focus on Science, Technology, Engineering, and Mathematics (STEM) to support the statewide transition to the CCSS; The development of an Instructional Improvement System (IIS), an online portal to deliver model curriculum, formative assessments, data reporting, professional development resources, and other curricular resources aligned to the CCSS, to the school-level; The transition to new principal and teacher evaluation systems; and Support for the State's charter application and renewal review cycles.

Award period:

Year 1 is from July 1, 2012-December 31, 2012 Year 2 is from January 1, 2013-December 31, 2013 Year 3 is from January 1, 2014-December 31, 2014 Year 4 is form January 1, 2015-November 30, 2015 Resolution to approve the following District staff and salary percentages to be charged through Pleasantville School District Funded Programs Office Entitlement Grant NCLB Title I Fund 20 for (Fiscal Year) FY 15 NCLB Title I

Fund 20; effective July 1, 2014 through June 30, 2015.

Director of Funded Programs- Carol Reynolds-

20-231-200-100-0000-545 (40%) \$56,460.00

20-231-200-200-0000-545 Fringes (40%) \$14,983.00

11-000-221-102-0000-234 (60%) \$84,690.00

FY15 Title IIA

Academic Coach- Allison Cordivari 20-270-200-100-0000-545 (32%) \$26,951.00; 15-120-100-101-0000-080 (68%) \$57,272.00; 20-270-200-200-0000-545 Fringes (32%) \$10,447.00.

Academic Coach- Renee Gensamer 20-270-200-100-0000-545 (32%) \$27,710.00; 11-000-221-104-0000-234 (68%) \$58,883.00; 20-270-200-0000-545 Fringes (32%) \$13,272.00.

Academic Coach-Jeffrey Laster 20-270-200-100-0000-545 (32%) \$21,898.00; 15-120-100-101-0000-080 (68%) \$46,532.00; 20-270-200-200-0000-545 Fringes (32%) \$9,508.00.

Academic Coach-Kaisha Medina 20-270-200-100-0000-545 (32%) \$22,171.00; 15-120-100-101-0000-085 (68%) \$47,112.00; 20-270-200-0000-545 Fringes (32%) \$11,123.00.

Academic Coach-Victoria Williamson 20-270-200-100-0000-545 (32%) \$24,565.00; 11-000-221-104-0000-234 (68%) \$52,200.00; 20-270-200-0000-545 Fringes (32%) \$13,106.00.

FY15 Title III

Instructional Aide- Maria Guillaume 20-241-100-106-0000-545 (100%) \$13,324.00; 20-241-200-200-0000-545 \$7,185.00 Fringes (100%) * Pro-rated hired 10/22/14

Rationale:

The above mentioned Pleasantville Public School District employees work for the district. Per NJDOE, all staff charged to any federal grant must be approved by the Board per EDGAR, Part 80—Uniform Administrative Requirements for grants and cooperative agreements to state and local governments, Section 20, Standards for financial management.

- 18. Approval for South Main Street School, North Main Street School, Washington Avenue School, Leeds Avenue School & Early Childhood to apply for the Fresh Fruits and Vegetables Grant for school year 2015 2016.
- 19. The Fresh Fruit & Vegetable Program provides funding for schools to serve free fresh fruits and vegetables to students during the school day, outside for regular meal times. The goals of the FFVP are to: Create healthier school environments by providing healthier food choices; Expand the variety of fruits and vegetables children experience; Increase children's fruit and vegetable consumption; Make a difference in children's diets to impact their present and future health.

20. Approval of the 2014-2015 Special Education Services for Out of District Pleasantville Students as follows:

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT #
13019984 / 5375089976	Y.A.L.E. School East	March 4, 2015– June 30, 2015	Educational	Not to exceed \$19,360.99	New Student Transferred In	10	11-000-100-566-0000-400
12827200 / 8168824041	Y.A.L.E. School East	March 3, 2015– June 30, 2015	Educational	Not to exceed \$19,633.68	New Student Transferred In	9	11-000-100-566-0000-400
1780181 / 5376801304	Y.A.L.E. School East	February 23, 2015– June 30, 2015	Educational	Not to exceed \$20,997.13	Change in placement from Coastal to Y.A.L.E. School East	9	11-000-100-566-0000-400

21. **Whereas**, the Pleasantville School District and City of Pleasantville desire to provide the services of police officer(s) assigned to the school district on a Full-time basis; and

Whereas, both parties recognize the potential benefits of this program to the citizens of the municipality and to the students and staff of the school district; and

Whereas, it is in the best interests of the school district and the municipality to establish this program,

It Is Therefore Agreed, that the municipality shall supply (1) one police officer(s) to the school district during the 2014-2015 school year pro-rated for days from April 01, 2015 through June 30, 2015.

Although assigned to the school on a full-time basis, a police officer so assigned remains an employee of the municipality and its police department. The officer shall remain subject to all rules and regulations of the police department and shall not be considered an employee of the school district.

The duties to be performed at the school by an assigned officer shall be assigned through the municipal police chain of command, in cooperation with the Superintendent of Schools and/or the Superintendent's designee.

The Chief School Administrator and the Chief of Police shall maintain open communication concerning the progress and effectiveness of the program.

The school shall provide the officer with a telephone and office space where students can meet and speak privately with the officer. The office must be able to be properly locked and secured.

If possible, the office should be in a central location in the school building and easily accessible to students, faculty and school administrators.

The program shall be funded as follows:

DAYS (Pro-rated for days from April 01, 2015 through June 30, 2015)

\$415.00 PER DAY

\$74,700.00 TOTAL AMOUNT NOT TO BE EXCEEDED (Pro-rated for days from April 01, 2015 through

June 30, 2015)

22. Be it resolved that the district auditors, Lerch, Vinci & Higgins, have recommended that the board notified that the following vendor expenditures are in excess of \$36,000.

These vendors are part of a purchasing cooperative or have been award state contract.

 Spectrum Industries
 \$205,043.82

 Atlantic Coast Alarm
 \$65,142.00

 WW Grander
 \$37,348.85

 Filebank, Inc.
 \$66,200.48

 W.B. Mason, Co.
 \$85,287.81

 Staples Inc.
 \$37,299.52

 MKI Lions
 \$37,311.04

- 23. Be it resolved by the Pleasantville School District that the district engineers, Remington and Vernick is authorized to prepare and submit "other capital projects" for the following projects:
 - 9. Pleasantville MS Methane Gas Pilot & Monitoring Project
 - 10. Pleasantville HS Running Track Replacement Project
 - 11. Pleasantville HS Soccer Field Improvement Project

The district acknowledges that these projects will receive no state aid and further advises Remington and Vernick/Garrison architects to amend the district approved LRFP to include these projects as required.

24. Be it resolved that change order number one for the Decatur Avenue School Parking Lot Improvements Project resulting in a net reduction of \$39,482.00 be approved.

PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS

Board Workshop Meeting Tuesday, April 21, 2015

MINUTES

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. New Hires:

Name	Position	Location	Effective Date	Salary	Funding Source
Tawanya Fisher	Custodian	WAS	May 4, 2015 – June 30, 2015	\$28,363.00 (Step 4)	11-000-262-100-0000-060 (Recall - Replacing Lydia Letson)
TBD	Director of Curriculum and Instruction	District	May 4, 2015 – June 30, 2015	TBD	11-000-230-100-0000-232 (New Position)
TBD	Head Football Coach	PHS	May 4, 2015 – June 30, 2016	\$7,227.00 (A-2 Stipend)	15-402-100-101-0000-050

2. Substitute Staff (Pending Criminal History Clearance) On as Needed Basis:

Name	Position	Location	Effective Date	Salary	Funding Source
Bryan Barnes	Substitute Custodian	District	May 4, 2015 – June 30, 2015	\$11.00 per hour	11-000-262-100-0000-352
Terik Crosby	Substitute Custodian	District	May 4, 2015 – June 30, 2015	11.00 per hour	11-000-262-100-0000-352
Jose Diaz	Substitute Custodian	District	May 4, 2015 – June 30, 2015	\$11.00 per hour	11-000-262-100-0000-352
Marlene Ellis-Hudgon	Substitute Custodian	District	May 4, 2015 – June 30, 2015	\$11.00 per hour	11-000-262-100-0000-352
Aaron Mitchell	Substitute Custodian/ Security	District	May 4, 2015 – June 30, 2015	\$11.00 per hour	11-000-262-100-0000-352 (Custodian) 15-000-266-100-0000-050 15-000-266-100-0000-055 15-000-266-100-0000-080 15-000-266-100-0000-085 15-000-266-100-0000-095 (Security)

3. RESIGNATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Crista Fopeano	Teacher	SMSS	May 22, 2015	N/A	N/A

4. RETIREMENTS:

Name	Position	Location	Effective Date	Salary	Funding Source
Donald Hall	Teacher	PHS	December 31, 2015	N/A	N/A

Name	Position	Location	Effective Date	Salary	Funding Source
Thomas Mursheno	Computer	Technology	July 1, 2015	N/A	N/A
	Technician				
Maria Florence	Teacher	PHS	July 1, 2015	N/A	N/A
Oliverio					
Richard Poole	Teacher	PHS	June 30, 2015	N/A	N/A
Deborah Taliaferro	School Nurse	WAS	October 30, 2015	N/A	N/A

5. TERMINATIONS:

Name	Position	Location	Effective Date	Salary	Funding Source
Erica Long	Bus Aide	Transportation	April 29, 2015	N/A	N/A
Marion Derr	Speech Language Specialist	LAS	June 30, 2015	N/A	N/A

6. FMLA LEAVE WITH PAY AND BENEFITS (UNTIL ACCUMULATED LEAVE EXHAUSTED):

Name	Position	Location	Effective Date	Salary	Funding Source
Carla Block-Ropeicki	Teacher	PHS	April 1, 2015 – June 30, 2015	N/A	N/A
Beverly Conner	Secretary	LAS	February 5, 2015 – June 30, 2015	N/A	N/A
Angela Davis	Teacher	NMSS	January 12, 2015 – June 30, 2015 (Intermittent)	N/A	N/A
Constance Evans	Bus Driver	Transportation	March 2, 2015 – June 30, 2015	N/A	N/A
Traci Holland-Bard	Secretary	Transportation	November 11, 2014 – June 30, 2015 (Intermittent)	N/A	N/A
Sharon Tommi	Teacher	WAS	February 21, 2015 – June 30, 2015	N/A	N/A

7. FMLA LEAVE WITHOUT PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE EXHAUSTED):

Name	Position	Location	Effective Date	Salary	Funding Source
Linda Brown	Instructional Aide	LAS	March 16, 2015 – June 30, 2015 (Intermittent/ Family Member)	N/A	N/A
Rashid Brown	Custodian	PHS	March 18, 2015 – June 30, 2015 (Family Member)	N/A	N/A
Blanche Cole	Instructional Aide	SMSS	March 19, 2015 – April 10, 2015 (Family Member)	N/A	N/A
Blanche Cole	Instructional Aide	SMSS	April 13, 2015 – June 30, 2015 (Intermittent/ Family Member)	N/A	N/A

8. BOARD LEAVE OF ABSENCE WITH PAY UNTIL ACCUMULATED SICK DAYS ARE EXHAUSTED AND BENEFITS:

Name	Position	Location	Effective Date	Salary	Funding Source
Rita Cherico	Teacher	WAS	March 24, 2015 -	N/A	N/A
			June 30, 2015		
Frank Cambron	Social Worker	ECH	March 3, 2015 -	N/A	N/A
			June 30, 2015		
Elizabeth Flores	Community Parent	ECH	April 7, 2015 –	N/A	N/A
	Involvement Spec.		June 30, 2015		
Yvette Soklove	Teacher	NMSS	February 27, 2015 –	N/A	N/A
			June 30, 2015		

9. STAFF TRANSFERS:

Name	Position	Location	Effective Date	Salary	Funding Source
Kirsten Canuso TO BE REMOVED	Accountant Specialist to Accountant	Business Office	April 29, 2015 – June 30, 2015	\$70,000.00	11-000-251-105-0000-351
Brent Higgins	Teacher	MSP to PHS	April 29, 2015 – June 30, 2015	N/A	15-140-100-101-0000-050
Rhonda Llanos	Instructional Aide	MSP to NMSS	April 29, 2015 – June 30, 2015	N/A	15-240-100-106-0000-085
Barbara Mason	Instructional Aide	SMSS to MSP	April 29, 2015 – June 30, 2015	N/A	15-240-100-106-0000-055
Chalyse McDavid- Whitland	Accountant to Fiscal Analyst (ECH)	Business Office to LAS	April 29, 2015 – June 30, 2015	N/A	20-218-200-110-0000-234 (2014-2015 Preschool)
Brendan Smith TO BE REMOVED	Fiscal Analyst (ECH) to Senior Accountant	Business Office	April 29, 2015 – June 30, 2015	\$86,150.00	11-000-251-105-0000-351
John White	Instructional Aide	LAS to NMSS	April 13, 2015 – June 30, 2015	N/A	11-000-217-106-0000-400

10. SALARY ADJUSTMENT: PURSUANT TO COLLECTIVE BARGAINING AGREEMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Terik Crosby	Security Guard	MSP	May 4, 2015 – June 30, 2015	\$26,260.00 Step 1 to \$26,889.00 Step 4 (Pro-rated)	15-000-266-100-0000-055
Evelyn Gonzalez	Principal's Secretary	PHS	May 4, 2015 – June 30, 2015	\$36,061.00 \$35,361.00 C2/ Step 10 + \$700.000 Longevity to	15-000-240-105-0000-050

Name	Position	Location	Effective Date	Salary	Funding Source
				\$37,238.00 \$36,538.00 C3/ Step 10 + \$700.00 Longevity (Pro-rated)	
Migdalia Rosario	Secretary	HR	May 4, 2015 – June 30, 2015	\$48,874.00 \$46,514.00 C3/ Step 15 + \$2,360.00 Longevity to \$52,595.00 \$50,235.00 C4/ Step 15 + \$2,360.00 Longevity (Pro-rated)	11-000-230-100-0000-351
Hollie Simmons	Security Guard	PHS	May 4, 2015 – June 30, 2015	\$26,260.00 Step 1 to \$27,099.00 Step 5 (Pro-rated)	15-000-266-100-0000-050
Kelsey Wiemer	Teacher	PHS	May 4, 2015 – June 30, 2015	\$53,835.00 BA+15/ Step 4 to \$55,546.00 MA/ Step 4 (Pro-rated)	15-140-100-101-0000-050

11. VOLUNTEER (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Position/Assignment	Location	Effective Date	Salary	Funding Source
Cori Rose	Classroom Volunteer	PHS	April 19, 2015 –	N/A	N/A
			June 30, 2015		

12. GRAND CANYON UNIVERSITY STUDENT INTERN PLACEMENTS (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Position/Assignment	Location	Effective Date	Salary	Funding Source
Cori Rose	Special Education (Grades 7-12) Kristin Harris	PHS	September 1, 2015 – December 18, 2015	N/A	N/A

13. Spring Coaching Positions (Pending Criminal History Clearance):

Name	Position	Location	Effective Date	Salary	Funding Source
Alan Laws, Jr.	Assistant	PHS	February 25, 2015 –	\$3,374.00	15-402-100-100-0000-050
(Substitute Certificate)	Girls' Track Coach		June 30, 2015		
Patrick Chilliri	Assistant Baseball	PHS	February 25, 2015 –	\$3,374.00	15-402-100-100-0000-050
(Teacher Certificate)			June 30, 2015		

14. AFTERSCHOOL POWER HOUR (PENDING CRIMINAL HISTORY CLEARANCE) BASED ON ADEQUATE STUDENT INVOLVEMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
LEEDS AVENUE SCHO	OL		•	•	
Patricia Davis	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Barbara Hinchman	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Mary Flynn	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Mary Low	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Syreeta Primas	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$1,800)	15-424-100-101-0000-080
Leo Hamlet	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$1,800)	15-424-100-101-0000-080
Stacey Swann	Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Marshella Cass	Substitute Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Brittany LaPorte	Substitute Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080
Alyssa Tavarez	Substitute Teacher	LAS	January 21, 2015 – May 29, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600)	15-424-100-101-0000-080

15. Resolution to approve the Pleasantville Public School District to participate in the Black Horse Pike Regional School District Diversity Recruitment Fair for Southern New Jersey. The fair will be held at the Highland Regional High School Gymnasium in Blackwood, NJ on Thursday, May 21, 2015. The purpose is to improve diversity within the district to better meet the needs of our student population. The registration fee for the district is \$75.00 utilizing account #11-000-251-590-0000-236. The following human resources staff members will be attending the recruitment fair: Dr. Mark Delcher, Director of Human Resources, Lolita Adams, Secretary and Temera Stafford, Executive Secretary.

16. AFTERSCHOOL PROFESSIONAL DEVELOPMENT WORKSHOP PRESENTERS:

Name	Location	Workshop Title	Date	Cost	Account #
Christina Favre	WAS	Resources; One Stop Shopping	April 23, 2015	\$30.00 per hour not to exceed 3	11-000-221-104-0000-234
				hours (\$90.00)	

Name	Location	Workshop Title	Date	Cost	Account #
Christine Teeney	MSP	Adapting EngageNY Resources (ELA) Part 1	April 23, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Constance Days	PHS	Adapting EngageNY Resources (ELA) Part 1	April 23, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Christine Teeney	MSP	Adapting EngageNY Resources (ELA) Part 2	April 24, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Constance Days	PHS	Adapting EngageNY Resources (ELA) Part 2	April 24, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Christine Teeney	MSP	Literacy Across the Curriculum Setting and Implementing Goals for Grades (6th – 8th)	April 30, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Christine Teeney	MSP	Social Studies: Infusing Literacy into the Curriculum Part 1 (5th-8th)	May 1, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	EdConnect Building a Test Bank for ELA(K-5th)	May 2, 2015	\$30.00 per hour not to exceed 8 hours (\$240.00)	11-000-221-104-0000-234
Darryll Ramsey	MSP	Data Analysis and Curriculum Navigation with EdConnect (5th-12th)	May 7, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Christine Teeney	MSP	Social Studies: Infusing Literacy into the Curriculum Part 2 (5th-8th)	May 8, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	EdConnect Building Assessments for ELA part 1 (2 nd -5 th)	May 11, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	ELA Performance Tasks for Unit 1 (K-5 th)	May 13, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Christine Teeney	MSP	EdConnect: Building Assessments for (5th-8th)	May 15, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

Name	Location	Workshop Title	Date	Cost	Account #
Kaisha Medina	NMSS	EdConnect: Building a Test Bank for ELA Part II for (K-5th)	May 16, 2015	\$30.00 per hour not to exceed 8 hours (\$240.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	EdConnect Building Assessments for ELA Part 2	May 18, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	ELA Performance Task for Unit 2 for (K-5 th)	May 20, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Renee Gensamer	PHS	How to Effectively Communicate with your Non-English Speaking Students and Parents for (9th -12th)	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour not to exceed 12 hours (\$360.00)	11-000-221-104-0000-234
Renee Gensamer	MSP	How to Effectively Communicate with your Non-English Speaking Students and Parents for (6th-8th)	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour not to exceed 12 hours (\$360.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	ELA Performance Task for Unit 3 (K-5 th)	May 27, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Darryll Ramsey	MSP	Understanding EngageNY: Math Focus-Eureka (6th-12th)	May 28, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Darryll Ramsey	PHS	Understanding EngageNY: Math Focus-Eureka (6th-12th)	May 28, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	EdConnect Building Assessments for ELA Part 3	June 1, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Lindsey Marchesani	PHS	Adapting EngageNY Lesson Modification and Resources (Math) Part I for (9th-12th)	June 1, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Lindsey Marchesani	PHS	Adapting EngageNY Lesson Modification and Resources (Math) Part 2 for (9th-12th)	June 3, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234

Name	Location	Workshop Title	Date	Cost	Account #
Jeffrey Laster	MSP	Student Workspaces in Schoolnet (K-12th)	June 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	ELA Performance Task for Unit 4 (K-5 th)	June 3, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Jeffrey Laster	MSP	Co-Authoring and Scheduling tests in EdConnect (K-12 th)	June 4, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Kaisha Medina	NMSS	EdConnect Building Assessments for ELA Part 4 (2 nd - 5 th)	June 8, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Jeffrey Laster	MSP	Welcome to PowerSource (K-12 th)	June 9, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Victoria Williamson	SMSS	Optimizing Teaching and Learning through the Framework of Universal Design form Learning. (UDL) (K-5th)	June 9, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Victoria Williamson	MSP	Optimizing Teaching and Learning through the Framework of Universal Design form Learning. (UDL) (6th -12th)	June 11, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Lindsey Marchesani	PHS	Incorporating Resources into the Science Curriculum (9th-12th)	June 8, 2015 and June 10, 2015	\$30.00 per hour not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Allison Cordivari	LAS	Incorporating Resources into the Science Curriculum (K-5th)	June 16, 2015 and June 17, 2015	\$30.00 per hour not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Aaron Washington	MSP	Technology for the Performing Arts and Creative Minds (K-12 th)	June 11, 2015 and June 13, 2015	\$30.00 per hour not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Renee Gensamer	PHS	How to increase the rigor and language production in a World Language classroom	May 6, 2015 May 13, 2015 May 20, 2015 and May 27, 2015	\$30.00 per hour not to exceed 12 hours (\$360.00)	11-000-221-104-0000-234

Name	Location	Workshop Title	Date	Cost	Account #
Darryll Ramsey	MSP	EdConnect Building Assessments (Math Focus)	May 15, 2015	\$30.00 per hour not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

17. AFTERSCHOOL PROFESSIONAL DEVELOPMENT - RESOURCES, ONE STOP SHOPPING GRADES (K-5):

Name	Position	PD Location	Effective Date	Salary	Account #
Colleen Abel	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
			•	not to exceed 1.5	
				hours (\$45.00)	
Terre Alabarda	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
			' '	not to exceed 1.5	
				hours (\$45.00)	
Kia Allen	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
			' '	not to exceed 1.5	
				hours (\$45.00)	
Andrea Alten	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
			•	not to exceed 1.5	
				hours (\$45.00)	
Linda Baum	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
			•	not to exceed 1.5	
				hours (\$45.00)	
Deborah Collins-	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
Rice			•	not to exceed 1.5	
				hours (\$45.00)	
Michael Daly	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
•			•	not to exceed 1.5	
				hours (\$45.00)	
Desiree Daniels-	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
Green				not to exceed 1.5	
				hours (\$45.00)	
Angela Davis	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
-				not to exceed 1.5	
				hours (\$45.00)	
Deborah Delahant	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
			•	not to exceed 1.5	
				hours (\$45.00)	
Yvonne Dill-White	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Deborah Gaskins	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Barbara Hinchman	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Crista Fopeano	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Jean Hovey	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Elizabeth Ingargiola	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Amirah Jones	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Dawn Karpinski	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Liza Levitt-Tighe	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Dorothy Lydon	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>			hours (\$45.00)	
Jennifer Martinez	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
A ' BA'' I' '	ļ	14/4.0	4 1100 0045	hours (\$45.00)	11 000 001 101 0000 001
Annmarie Mirigliani	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
T 14'	- .	14/40	A 11.00 0045	hours (\$45.00)	44 000 004 404 0000 004
Tamara Misa	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
Compate Dalassa	Tanahan	\A/A C	A: 1 00 004F	hours (\$45.00)	11-000-221-104-0000-234
Syreeta Primas	Teacher	WAS	April 23, 2015	\$30.00 per hour not to exceed 1.5	11-000-221-104-0000-234
Vanessa Ramirez	Teacher	WAS	April 23, 2015	hours (\$45.00) \$30.00 per hour	11-000-221-104-0000-234
Vallessa Rallillez	reacher	VVAS	April 23, 2013	not to exceed 1.5	11-000-221-104-0000-234
				hours (\$45.00)	
Kathleen Reeves	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
Natifice if Neeves	Teacher	WAS	April 23, 2013	not to exceed 1.5	11-000-221-104-0000-234
				hours (\$45.00)	
Gerardo Rios	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
Ociaido Mos	reacher	VVAO	April 25, 2015	not to exceed 1.5	11-000-221-104-0000-234
				hours (\$45.00)	
Sydney Scott	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
Cyanoy Cook	1000101	117.0	, ipili 20, 2010	not to exceed 1.5	1. 300 221 104 0000 204
				hours (\$45.00)	
Stephanie Smith-	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
Stowe	. 5351101	1	, .p 20, 2010	not to exceed 1.5	
				hours (\$45.00)	
Christine Stanford	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
		1		not to exceed 1.5	
				hours (\$45.00)	
				(, , , , , , , , , , , , , , , , , , ,	
	1	I	1		i

Name	Position	PD Location	Effective Date	Salary	Account #
Sylvia Stephens	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Alyssa Tavares	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Eric Walden	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Marisa Ward	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Ralph Ward	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Adrienne Wesley	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Nanette Wheaton	Teacher	WAS	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

18. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ENGAGENY RESOURCES (ELA) PART 1 - GRADES 5 - 8:

Name	Position	PD Location	Effective Date	Salary	Account #
Sylvia Alston	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Erika Boehm	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Velecia Bush	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Shawna Coles	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Jeanine Doms	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Annie Graves	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Marsha Henry	Teacher	MSP	April 23, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Ashley Hoerr	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Andrea Merline	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Ninette Philips	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Roselin Poteat	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Jeanette Reed	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Cynthia Rios	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Janelle Robinson	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Kathleen Russo	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Claudette Scott	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Elise Thompson	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Torrey Wilkerson	Teacher	MSP	April 23, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	

19. AFTERSCHOOL PROFESSIONAL DEVELOPMENT ADAPTING ENGAGENY RESOURCES (ELA) PART 1 - GRADES 9 –12:

Name	Position	PD Location	Effective Date	Salary	Account #
Eileen Brown	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Patrick Chilliri	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
John Dulski	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Michelle Everett	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kristen Harris	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sharlyn Henderson	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Judith Lokich	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Richard McAllister	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Clifford Moore	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Barbara Potter	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Heather Sickler	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Josephine Troy	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Patricia Varallo	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Brittney Wallace	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Russell Weems	Teacher	PHS	April 23, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

20. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ADAPTING ENGAGENY RESOURCES (ELA) PART 2 - GRADES 5-8:

Name	Position	PD Location	Effective Date	Salary	Account #
Sylvia Alston	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Velecia Bush	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Shawna Coles	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Angela Davis	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Annie Graves	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Marsha Henry	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Andrea Merline	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Ninette Philips	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Roselin Poteat	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Jeanette Reed	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Cynthia Rios	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janelle Robinson	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Kathy Russo	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Claudette Scott	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Elise Thompson	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Torrey Wilkerson	Teacher	MSP	April 24, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

21. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ADAPTING ENGAGENY RESOURCES (ELA) PART 2 - GRADES 9-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Eileen Brown	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Patrick Chilliri	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
John Dulski	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Michelle Everett	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kristin Harris	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Judith Lokich	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Richard McAllister	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Clifford Moore	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Barbara Potter.	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Heather Sickler	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Andrea Spence	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Josephine Troy	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Patricia Varallo	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Brittney Wallace	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Russell Weems	Teacher	PHS	April 24, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

22. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: LITERACY ACROSS THE CURRICULUM SETTING AND IMPLEMENTING GOALS FOR GRADES 6-8:

Name	Position	PD Location	Effective Date	Salary	Account #
Lisa Barahona	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
William Bartle	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Adrian Birch	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Janet Bravo	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Velecia Bush	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Shawna Coles	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Angela Davis	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Jeanine Doms	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Latanya Elias	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Roselin Forbey	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Marsha Henry	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>			hours (\$45.00)	
Ashley Hoerr	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>	1		hours (\$45.00)	
Elizabeth Hurley	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>			hours (\$45.00)	
William Martin	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	 	1405	A "100 0045	hours (\$45.00)	14 000 004 464 0000 004
Janelle Robinson	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	 	1405	A "100 0045	hours (\$45.00)	14 000 004 464 0000 004
Marjorie Rose	Teacher	MSP	April 30, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Kathleen Russo	Teacher	MSP	April 30, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sandra Strazzeri	Teacher	MSP	April 30, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Susan Swezeny	Teacher	MSP	April 30, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Regina Tronu	Teacher	MSP	April 30, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Torrey Wilkerson	Teacher	MSP	April 30, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

23. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: SOCIAL STUDIES: INFUSING LITERACY INTO THE CURRICULUM PART 1 GRADES 5-8:

Name	Position	PD Location	Effective Date	Cost	Account #
William Bartle	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	May 1, 2015	hours (\$45.00) \$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janet Bravo	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Francis Brinkley Ward	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Velecia Bush	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Shawna Coles	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Angela Davis	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Latanya Elias	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Raymond Frazier	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Joseph Manetta	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Cost	Account #
William Martin	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Danielle Percy	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rhonda Pinder	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Roselin Poteat	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Cynthia Rios	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Kathleen Russo	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sydney Simpson	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Barbara Sooy	Teacher	MSP	May 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

24. SATURDAY PROFESSIONAL DEVELOPMENT: EDCONNECT BUILDING A TEST BANK FOR ELA GRADES K-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Matthew Barnard	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4 hours (\$120.00)	
Carrie Brandon	Teacher	NMSS	May 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Eugene Croff	Teacher	NMSS	May 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Angela Davis	Teacher	NMSS	May 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Patricia Defant	Teacher	NMSS	May 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Deborah Delahant	Teacher	NMSS	May 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Susana Faulhaber	Teacher	NMSS	May 2, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Deborah Gaskins	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Gerardo Rios	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Kevin Sellman	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Sidney Scott	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Stacy Swann	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
John Toland	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Eric Walden	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Ralph Ward	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Michael Zain	Teacher	NMSS	May 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	

25. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: DATA ANALYSIS AND CURRICULUM NAVIGATION WITH EDCONNECT GRADES 5-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Debra Battle	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Blake Boffa	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janet Bravo	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Shawna Coles	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Tatiana Cunningham	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Michael Daly	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Renee Gensamer	Academic Coach	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rodger Fleming	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sara Gonzalez	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Christina Gras	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Elizabeth Hurley	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Timothy Kelly	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Nicole McNeal	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Daniel Piettro	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Dale Sheridan	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Catherine Stanley	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Kathy Syvarth	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Torrey Wilkerson	Teacher	MSP	May 7, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

26. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: SOCIAL STUDIES: INFUSING LITERACY INTO THE CURRICULUM PART 2 GRADES 5-8:

Name	Position	PD Location	Effective Date	Salary	Account #
William Bartle	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janet Bravo	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Velecia Bush	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Shawna Coles	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Angela Davis	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Latanya Elias	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Joseph Manetta	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
William Martin	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Danielle Percy	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Roselin Poteat	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Cynthia Rios	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Kathleen Russo	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sydney Simpson	Teacher	MSP	May 8, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

27. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT BUILDING ASSESSMENTS FOR ELA PART 1 GRADES 2-5:

Name	Position	Location	Effective Date	Cost	Account #
Kia Allen	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Matthew Barnard	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Regina Callaghan	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Willie Ceasar	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Marshella Cass	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Deborah Delahant	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Janida Del'Lior	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Jayne Dempsey	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Yvonne Dill-White	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Brittany LaPorte	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Dorothy Lydon	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>			hours (\$45.00)	
Tammy Mahana	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>			hours (\$45.00)	
Delnora Rowell	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>			hours (\$45.00)	
Cassandra Russell	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
01 1 1 0 111	ļ	NIN 400	N 44 0045	hours (\$45.00)	14 000 004 464 0000 003
Stephanie Smith-	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
Stowe				not to exceed 1.5	
	 	111100	11 11 221=	hours (\$45.00)	11.000.001.101.0000.001
Sonia Taggart	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

Name	Position	Location	Effective Date	Cost	Account #
Diane Thompson	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Ralph Ward	Teacher	NMSS	May 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

28. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ELA PERFORMANCE TASKS FOR UNIT 1 GRADES K-5:

Name	Position	Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Carrie Brandon	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Marshella Cass	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janida Del'Lior	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rhonda Farmer	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Deborah Gaskins	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Michelle Jacobs	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Brittany LaPorte	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Tammy Mahana	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Annmarie Mirigliani	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Laurie Mitchell	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Syreeta Primas	Teacher	NMSS	May 13, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	Location	Effective Date	Salary	Account #
Vanessa Ramirez	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Gerardo Rios	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Sidney Scott	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Nikki Smith	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Stephanie Smith-	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
Stowe				not to exceed 1.5	
				hours (\$45.00)	
Syreeta Primas	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
John Toland	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Ralph Ward	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
·				not to exceed 1.5	
				hours (\$45.00)	
Michael Zain	Teacher	NMSS	May 13, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

29. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT: BUILDING ASSESSMENTS FOR GRADES 5-8:

Name	Position	PD Location	Effective Date	Salary	Account #
Sylvia Alston	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Lisa Barahona	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janet Bravo	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Michael Daly	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Maria Dattilo	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Elizabeth Dubose	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Latanya Elias	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Michelle Ferretti	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Renee Gensamer	Academic	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
	Coach			not to exceed 1.5	
				hours (\$45.00)	
Annie Graves	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Kathleen Russo	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Steven Sabatino	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Sandra Strazzeri	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Kathy Syvarth	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Torrey Wilkerson	Teacher	MSP	May 15, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

30. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT: BUILDING A TEST BANK PART 2 GRADES K-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	May 16, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	NMSS	May 16, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Carrie Brandon	Teacher	NMSS	May 16, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Eugene Croff	Teacher	NMSS	May 16, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234
Angela Davis	Teacher	NMSS	May 16, 2015	\$30.00 per hour not to exceed 4 hours (\$120.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Patricia Defant	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Janida Del'Lior	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Susana Faulhaber	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Deborah Gaskin	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 4	
				hours (\$120.00)	
Brittney LaPorte	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
,			1, 1, 1	not to exceed 4	
				hours (\$120.00)	
Tammy Mahana	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
,			', ', ', '	not to exceed 4	
				hours (\$120.00)	
Elena Meade	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
			,,	not to exceed 4	
				hours (\$120.00)	
Syreeta Primas	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
			,,	not to exceed 4	
				hours (\$120.00)	
Gerardo Rios	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
301414014100	1 0001101	1	1110, 10, 2010	not to exceed 4	11 000 221 101 0000 201
				hours (\$120.00)	
Sidney Scott	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
olulloy occu			,,	not to exceed 4	
				hours (\$120.00)	
Kevin Sellman	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
TOVIII Comman	10001101	1111100	May 10, 2010	not to exceed 4	11 000 221 101 0000 201
				hours (\$120.00)	
Stacy Swann	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
Clady Chain	10001101	1111100	May 10, 2010	not to exceed 4	11 000 221 101 0000 201
				hours (\$120.00)	
Diane Thompson	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
Biano mompoon	10001101	141000	Way 10, 2010	not to exceed 4	11 000 221 101 0000 201
				hours (\$120.00)	
John Toland	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
John Toland	reaction	THIVIOO	Way 10, 2010	not to exceed 4	11 000 221 104 0000 204
				hours (\$120.00)	
Eric Walden	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
LITO VVAIAGIT	loadiloi	INIVIOU	1 1 10 10, 2010	not to exceed 4	11 000 221 104-0000-204
				hours (\$120.00)	
Ralph Ward	Teacher	NMSS	May 16, 2015	\$30.00 per hour	11-000-221-104-0000-234
Naipii vvaiu	Todonei	INIVIOU	1VIGY 10, 2010	not to exceed 4	11 000 221-104-0000-204
				hours (\$120.00)	
				110u15 (Φ120.00)	

31. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT: BUILDING ASSESSMENTS FOR ELA PART 2 GRADES 2-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Matthew Barnard	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
			-	not to exceed 1.5	
				hours (\$45.00)	
Marshella Cass	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
			-	not to exceed 1.5	
				hours (\$45.00)	
Willie Ceasar	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Angela Davis	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	
Janida Del'Lior	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
			-	not to exceed 1.5	
				hours (\$45.00)	
Jayne Dempsey	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Brittany LaPorte	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	
Dorothy Lydon	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
, ,				not to exceed 1.5	
				hours (\$45.00)	
Tammy Mahana	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
•			, ,	not to exceed 1.5	
				hours (\$45.00)	
Ralph Ward	Teacher	NMSS	May 18, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	

32. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ELA PERFORMANCE TASK FOR UNIT 2 GRADES K-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Marshella Cass	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Janida DeL'Lior	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rhonda Farmer	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Deborah Gaskins	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Brittany LaPorte	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Tammy Mahana	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Annmarie Mirigliani	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Laurie Mitchell	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Vanessa Ramirez	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Gerardo Rios	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sidney Scott	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Nikki Smith	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Stacy Swann	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
John Toland	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Ralph Ward	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Michael Zain	Teacher	NMSS	May 20, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

33. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: HOW TO EFFECTIVELY COMMUNICATE WITH YOUR NON-ENGLISH SPEAKING STUDENTS AND PARENTS GRADES 9-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Jamie Adams-Ford	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Pamela Alleyne	Librarian/ Media Specialist	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Sara Bailey	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Lisa Barahona	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Lisa Betty	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Tracy Boswell	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Erik Clark	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Constance A. Days	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Daniel Emmert	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Mark Eykyn	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Susana Faulhaber	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Brent Higgins	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
James Hutton	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Janeth Jaramillo	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Garrow Kerr	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Robyn LaTorre	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
David Masters	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Timothy McManimon	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Nicole McNeal	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Cruz Morales	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Sanjuana Parmer	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Leticia Pescador	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Portia Petty	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Vanessa Ramirez	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Marjorie Rose	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Sandra Strazzeri	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Michelle Stevenson	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Sonia Taggart	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Christopher Thomas	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Russell Whaley	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Merin Willy	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Michael Zain	Teacher	PHS	May 5, 2015 May 12, 2015 May 19, 2015 May 26, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

34. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: HOW TO EFFECTIVELY COMMUNICATE WITH YOUR NON-ENGLISH SPEAKING STUDENTS AND PARENTS GRADES 6-8:

Name	Position	PD Location	Effective Date	Cost	Account #
Alison Abbate	Librarian/ Media Specialist	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
William Bartle	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Lisa Barahona	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Karla Carmichael	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Cost	Account #
Michael Daly	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Deborah	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
D'Anastasio			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
Maria Datila	T l	MOD	M7 0045	(\$180.00)	44 000 004 404 0000 024
Maria Dattilo	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
Joanne Ditmar	Teacher	MSP	Mov 7, 2015	(\$180.00)	11-000-221-104-0000-234
טטמווווט טונווומו	I Cacilei	IVIOF	May 7, 2015 May 14, 2015	\$30.00 per hour for 1.5 hours per	11-000-221-104-0000-234
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
			Way 20, 2013	(\$180.00)	
Jeanine Doms	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
ocariirie Borris	rodonor	IVIOI	May 14, 2015	for 1.5 hours per	11 000 221 104 0000 204
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
			, 20, 20.0	(\$180.00)	
Dominick Dougherty	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
0 ,			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Latanya Elias	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Susana Faulhaber	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
		1405		(\$180.00)	44 000 004 404 0000 004
Monique Floyd	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
Manina Fati	Tocober	MCD	Mov 7, 2015	(\$180.00)	11 000 221 104 0000 224
Monica Foti	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per session not to	
			May 21, 2015 May 28, 2015	exceed 6 hours	
			IVIAY 20, 2013		
	<u> </u>			(\$180.00)	

Name	Position	PD Location	Effective Date	Cost	Account #
Ashley Hoerr	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Elizabeth Hurley	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Marable Irvin	Instructional	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
	Aide		May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Renee Irwin	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
1 (1 1 20	- -	MOD	N 7 0045	(\$180.00)	44 000 004 404 0000 004
Janeth Jaramillo	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours (\$180.00)	
Anna Katakna	Toochor	MSP	May 7, 2015		11-000-221-104-0000-234
Anne Kotokpo	Teacher	IVISP	May 14, 2015	\$30.00 per hour for 1.5 hours per	11-000-221-104-0000-234
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
			Way 20, 2013	(\$180.00)	
Michael LaTorre	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
WIIGHAGI LATOTIC	reaction	IVIOI	May 14, 2015	for 1.5 hours per	11-000-221-104-0000-204
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
			may 20, 2010	(\$180.00)	
Liza Levitt-Tighe	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Sanjuana Parmer	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
•			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	
Danielle Percy	Teacher	MSP	May 7, 2015	\$30.00 per hour	11-000-221-104-0000-234
•			May 14, 2015	for 1.5 hours per	
			May 21, 2015	session not to	
			May 28, 2015	exceed 6 hours	
				(\$180.00)	

Name	Position	PD Location	Effective Date	Cost	Account #
Vanessa Ramirez	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Jeanette Reed	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Kathleen Russo	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Patricia Savage	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Barbara Sooy	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Sandra Strazzeri	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Kathy Syvarth	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Sonia Taggart	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Regina Tronu	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Michael Zain	Teacher	MSP	May 7, 2015 May 14, 2015 May 21, 2015 May 28, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

35. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ELA PERFORMANCE TASK FOR UNIT 3 GRADE K-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Carrie Brandon	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Marshella Cass	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Janida Del'Lior	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rhonda Farmer	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Deborah Gaskins	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Annmarie Mirigliani	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Laurie Mitchell	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Vanessa Ramirez	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Gerardo Rios	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sidney Scott	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Stacy Swann	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Nikki Smith	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
John Toland	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Ralph Ward	Teacher	NMSS	May 27, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

36. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: UNDERSTANDING ENGAGENY MATH FOCUS – EUREKA GRADES 6-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Debra Battle	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Blake Boffa	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Frances Brinkley Ward	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Velecia Bush	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Karla Carmichael	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Deborah D'Anastasio	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Maria Dattilo	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
	<u> </u>			hours (\$60.00)	
Carin Denman	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
	- .	MOD/DUO	NA 00 0045	hours (\$60.00)	44 000 004 404 0000 004
Elizabeth Dubose	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
Dada a Flancia a	T l	MOD/DUO	M00 0045	hours (\$60.00)	44 000 004 404 0000 004
Rodger Fleming	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
Doumand Frazier	Teacher	MSP/PHS	May 29, 2015	hours (\$60.00)	11-000-221-104-0000-234
Raymond Frazier	reacher	WISP/PIIS	May 28, 2015	\$30.00 per hour not to exceed 2	11-000-221-104-0000-234
Renee Gensamer	Academic	MSP/PHS	May 28, 2015	hours (\$60.00) \$30.00 per hour	11-000-221-104-0000-234
Nellee Gelisalliel	Coach	WISF/F113	Iviay 20, 2015	not to exceed 2	11-000-221-104-0000-234
	Coacii			hours (\$60.00)	
Sara Gonzalez	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
Sara Gunzalez	reaction	WISI /I TIS	Iviay 20, 2013	not to exceed 2	11-000-221-104-0000-234
				hours (\$60.00)	
Michelle Jacobs	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
WIGHOIC GUODS	reaction	WIOT /T TIO	Way 20, 2010	not to exceed 2	11 000 221 104 0000 204
				hours (\$60.00)	
Bruce Jones	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
= : 5.00 0 0 1100	. 55.51.51		, 20, 2010	not to exceed 2	1. 555 151 5000 251
				hours (\$60.00)	
Timothy Jones	Instructional	MSP/PHS	May 28, 2015	\$30.00 per hour	11-000-221-104-0000-234
,	Aide		,	not to exceed 2	
				hours (\$60.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Elizabeth Kandabarrow-Crist	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Michael Kiefer	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kelly Morgan	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Scott Rullan	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	MSP/PHS	May 28, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Nicola Tasoff	Teacher	MSP/PHS	May 28, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

37. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT BUILDING ASSESSMENTS (ELA) PART 3 GRADES 2-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Matthew Barnard	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Ralph Brinkley Ward	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 2	
				hours (\$60.00)	
Marshella Cass	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Angela Davis	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Janida Del"Lior	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Jayne Dempsey	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Dorothy Lydon	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Kevin Sellman	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Stephanie Smith-	Teacher	NMSS	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
Stowe				not to exceed 2	
				hours (\$60.00)	

38. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ADAPTING ENGAGENY LESSON MODIFICATION AND RESOURCES (MATH) PART 1 GRADES 9-12:

Name	Position	Location	Effective Date	Cost	Account #
Lisa Betty	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Carla Block-Ropiecki	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Erik Clark	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Jonathan Howell	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Robyn LaTorre	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Diomedes Martinez	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
David Masters	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Scott Rullan	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Lorraine Stoughton	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Christopher Thomas	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Katrina Warren	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Merin Willy	Teacher	PHS	June 1, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

39. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ADAPTING ENGAGENY LESSON MODIFICATION AND RESOURCES (MATH) PART 2 GRADES 9-12:

Name	Position	Location	Effective Date	Salary	Account #
Lisa Betty	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Carla Block-Ropiecki	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Erik Clark	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Jonathan Howell	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Robyn LaTorre	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Diomedes Martinez	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
David Masters	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Scott Rullan	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Lorraine Stoughton	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Christopher Thomas	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Katrina Warren	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Merin Willy	Teacher	PHS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

40. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: STUDENT WORKSPACES IN SCHOOLNET (K-12):

Name	Position	PD Location	Effective Date	Salary	Account #
Rosa Aponte	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Adrian Birch	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Janet Bravo	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Shawna Coles	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Angela Davis	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Constance Days	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Jayne Dempsey	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Dominick Dougherty	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Elizabeth Dubose	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Christina Favre	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Deborah Gaskins	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
	<u> </u>	1105		hours (\$60.00)	
Sara Gonzalez	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
	<u> </u>	1105		hours (\$60.00)	
Christina Gras	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
	<u> </u>	1105		hours (\$60.00)	
Tim Kelly	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
01:1 12:	-	MCD		hours (\$60.00)	44 000 004 404 0000 004
Shirley King	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
A ' 17 ()	<u> </u>	MCD		hours (\$60.00)	44 000 004 404 0000 004
Annie Kotokpo	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
		1		hours (\$60.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Brittany LaPorte	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
·				not to exceed 2	
				hours (\$60.00)	
Liza Levitt	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Tammy Mahana	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Lindsey Marchesani	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Nicole McNeal	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Kaisha Medina	Academic	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
	Coach			not to exceed 2	
	 	1100		hours (\$60.00)	11 000 001 101 0000 001
Portia Petty	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
. D	ļ ₊ ,	MOD	1 0 0015	hours (\$60.00)	44 000 004 404 0000 004
June Puryear	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
O III: D:	 	MOD	1 0 0015	hours (\$60.00)	44 000 004 404 0000 004
Cynthia Rios	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
Cararda Dias	Tanahar	MSP	luna 2 2015	hours (\$60.00)	11-000-221-104-0000-234
Gerardo Rios	Teacher	INISP	June 2, 2015	\$30.00 per hour not to exceed 2	11-000-221-104-0000-234
Scott Rullan	Teacher	MSP	June 2, 2015	hours (\$60.00)	11-000-221-104-0000-234
Scott Rullan	reacher	IVIOF	Julie 2, 2015	\$30.00 per hour not to exceed 2	11-000-221-104-0000-234
				hours (\$60.00)	
Kathleen Russo	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
Natifice it Nusso	Teacher	IVIOF	Julie 2, 2013	not to exceed 2	11-000-221-104-0000-234
				hours (\$60.00)	
Barbara Sooy	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
Barbara Gooy	reaction	WIOI	00110 2, 2010	not to exceed 2	11 000 221 104 0000 204
				hours (\$60.00)	
Andrea Spence	Instructional	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
, and od opolioo	Aide		50110 2, 2010	not to exceed 2	1. 000 221 104 0000 204
	1.25			hours (\$60.00)	
Sonia Taggart	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Ralph Ward	Teacher	MSP	June 2, 2015	\$30.00 per hour	11-000-221-104-0000-234
r			, _ , _ , _ ,	not to exceed 2	
				hours (\$60.00)	
				(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
			•	•	•

Name	Position	PD Location	Effective Date	Salary	Account #
Katherine Watson	Teacher	MSP	June 2, 2015	\$30.00 per hour not to exceed 2	11-000-221-104-0000-234
				hours (\$60.00)	
Torrey Wilkerson	Teacher	MSP	June 2, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

41. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: ELA PERFORMANCE TASK FOR UNIT 4 (K-5):

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Ralph Brinkley Ward	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Marshella Cass	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Janida Del'Lior	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Rhonda Farmer	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Deborah Gaskins	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Mary Low	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Annmarie Mirigliani	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Laurie Mitchell	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Vanessa Ramirez	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Gerardo Rios	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sidney Scott	Teacher	NMSS	June 3, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Stephanie Smith-	Teacher	NMSS	June 3, 2015	\$30.00 per hour	11-000-221-104-0000-234
Stowe				not to exceed 2	
				hours (\$60.00)	
Stacy Swann	Teacher	NMSS	June 3, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
John Toland	Teacher	NMSS	June 3, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Eric Walden	Teacher	NMSS	June 3, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Michael Zain	Teacher	NMSS	June 3, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	

42. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: CO-AUTHORING AND SCHEDULING TESTS IN EDCONNECT K-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Sara Bailey	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
William Bartle	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Janet Bravo	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Ralph Brinkley Ward	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Karla Carmichael	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Angela Davis	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Patricia Defant	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Michael Daly	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Elizabeth Dubose	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Monique Floyd	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Renee Gensamer	Academic Coach	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sara Gonzalez	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kevin Jacobs	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Elizabeth Kandabarrow-Crist	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Brian Kavanagh	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Shirley King	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Lindsey Marchesani	Academic Coach	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Michelle McCline	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sanjuana Parmer	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Daniel Piettro	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
June Puryear	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Cynthia Rios	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Gerardo Rios	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Scott Rullan	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Kevin Sellman	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kathy Syvarth	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kelly Turner	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Michael Zain	Teacher	MSP	June 4, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

43. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT BUILDING ASSESSMENT (ELA) PART 4 GRADE 2-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Matthew Barnard	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Marshella Cass	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Jayne Dempsey	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Dorothy Lydon	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Stephanie Smith- Stowe	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Ralph Ward	Teacher	NMSS	June 8, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

44. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: WELCOME TO POWERSOURCE K-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Andrea Alten	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Sara Bailey	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 2	
				hours (\$60.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Debra Battle	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Adrian Birch	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Erika Boehm	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Carrie Brandon	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 2	
				hours (\$60.00)	
Stefanie Burns	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
			,	not to exceed 2	
				hours (\$60.00)	
Michael Daly	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
,			, , , ,	not to exceed 2	
				hours (\$60.00)	
Elizabeth Dubose	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
			, , , ,	not to exceed 2	
				hours (\$60.00)	
Christina Favre	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
			, ==	not to exceed 2	
				hours (\$60.00)	
Christina Gras	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
	1 00001101		04110 0, 2010	not to exceed 2	11 000 221 101 0000 201
				hours (\$60.00)	
Sara Gonzalez	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
			, ==	not to exceed 2	
				hours (\$60.00)	
Jean Hovey	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
			00 0, 20.0	not to exceed 2	
				hours (\$60.00)	
Timothy Kelly	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
raniously really	1 00001101		04110 0, 2010	not to exceed 2	11 000 221 101 0000 201
				hours (\$60.00)	
Lindsey Marchesani	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
zinacoy maronocam	1 00001101		04110 0, 2010	not to exceed 2	11 000 221 101 0000 201
				hours (\$60.00)	
Sanjuana Parmer	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
canjuana rannor	1 00001101		04110 0, 2010	not to exceed 2	11 000 221 101 0000 201
				hours (\$60.00)	
Faith Penrose	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
	. 50.101		33.13 3, 2013	not to exceed 2	555 2257 5565 257
				hours (\$60.00)	
Portia Petty	Teacher	MSP	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
. order out	1 343.101	100	34110 0, 2010	not to exceed 2	000 221 101 0000 204
				hours (\$60.00)	
				1	

Name	Position	PD Location	Effective Date	Salary	Account #
Kathleen Reeves	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Cynthia Rios	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Scott Rullan	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kathleen Russo	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sidney Scott	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Andrea Spence	Instructional Aide	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Christine Stanford	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sylvia Stephens	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Kathy Syvarth	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Sonia Taggart	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
John Toland	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Eric Walden	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Marisa Ward	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234
Michael Zain	Teacher	MSP	June 9, 2015	\$30.00 per hour not to exceed 2 hours (\$60.00)	11-000-221-104-0000-234

45. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: OPTIMIZING TEACHING AND LEARNING THROUGH THE FRAMEWORK OF UNIVERSAL DESIGN FORM LEARNING (UDL) GRADES K-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5	11-000-221-104-0000-234
				hours (\$45.00)	

Name	Position	PD Location	Effective Date	Salary	Account #
Linda Baum	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5	11-000-221-104-0000-234
				hours (\$45.00)	
Deborah Gaskins	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Y'Tanya Gillespie	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rosangela Goldian	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Michelle Jacobs	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Amirah Jones	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Cheryl Jones	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Dawn Karpinski	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Michael Kiefer	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Mary Low	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Annmarie Mirigliani	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Rhonda Pinder	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Zelda Prieta	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Leslie Price	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Gerardo Rios	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Delores Roberts	Teacher	SMSS	June 9, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Christine Roller	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Delnora Rowell	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Cassandra Russell	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Christopher Smith	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Nikki Smith	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Sonia Taggart	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Diane Thompson	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Nanette Wheaton	Teacher	SMSS	June 9, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

46. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: OPTIMIZING TEACHING AND LEARNING THROUGH THE FRAMEWORK OF UNIVERSAL DESIGN FORM LEARNING (UDL) GRADES 6-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Sara Bailey	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	
Lisa Barahona	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
William Bartle	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Adrian Birch	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Michael Daly	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
•				not to exceed 1.5	
				hours (\$45.00)	
Jeanine Doms	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Elizabeth Dubose	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
				, ,	

Name	Position	PD Location	Effective Date	Salary	Account #
Tara Esposito	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Renee Gensamer	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Sara Gonzalez	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Ashley Hoerr	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Elizabeth	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
Kandabarrow- Crist				not to exceed 1.5	
				hours (\$45.00)	
Cruz Morales	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Roselin Poteat	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
	<u> </u>	1		hours (\$45.00)	
Jeanette Reed	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
		1100	14 0045	hours (\$45.00)	11,000,001,101,000,001
Janelle Robinson	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
I/ (II	T .	MOD	1 44 0045	hours (\$45.00)	44 000 004 404 0000 004
Kathleen Russo	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
Andrea Cresses	la star esti sa si	MCD	luna 44 0045	hours (\$45.00)	44 000 004 404 0000 004
Andrea Spence	Instructional	MSP	June 11, 2015	\$30.00 per hour not to exceed 1.5	11-000-221-104-0000-234
	Aide				
Sandra Strazzeri	Teacher	MSP	June 11, 2015	hours (\$45.00)	11-000-221-104-0000-234
Sanura Strazzeni	reacher	IVISP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Kathy Syvarth	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
Namy Syvanth	I GaUIGI	IVIOF	Julio 11, 2015	not to exceed 1.5	11-000-221-104-0000-204
				hours (\$45.00)	
				Ποσιο (ψτο.ου)	
Torrey Wilkerson	Teacher	MSP	June 11, 2015	\$30.00 per hour	11-000-221-104-0000-234
TOTICY WINGISOTI	I Cacilei	WIOI	00110 11, 2010	not to exceed 1.5	11 000 221 104-0000-204
				hours (\$45.00)	
				ποσιο (ψτο.οο)	

47. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: INCORPORATING RESOURCES INTO THE SCIENCE CURRICULUM GRADES 9-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Sara Bailey	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
James Hutton	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Denise Kubaska	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Nicole McNeal	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
George Murray	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
James Nagbe	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Jonathan Polhemus	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Richard Poole	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Russell Whaley	Teacher	PHS	June 8, 2015 & June 10, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

48. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: INCORPORATING RESOURCES INTO THE SCIENCE CURRICULUM GRADE K-5:

Name	Position	PD Location	Effective Date	Salary	Account #
Kia Allen	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Tatiana Cunningham	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Angela Davis	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Leigh Fay-Kerper	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Lisa Gist Ragland	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Michael LaTorre	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Mary Low	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Tamara Misa	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Marchita McKinsey	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Judy Morris	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Nikki Smith	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Stephanie Smith- Stowe	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Susan Swezeny	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Diane Thompson	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Hernando Villafane	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Michael Zain	Teacher	LAS	June 16, 2015 & June 17, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

49. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: TECHNOLOGY FOR THE PERFORMING ARTS AND CREATIVE MINDS GRADES K-12:

Name	Position	PD Location	Effective Date	Salary	Account #
Hassan Abdur-Raheem	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Sylvia Alston	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Michael Daly	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Maria Dattilo	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Elizabeth Dubose	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Renee Gensamer	Academic Coach	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Sara Gonzalez	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Rose Giunta	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Bruce Jones	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Liza Levitt	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Cynthia Rios	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Dale Sheridan	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

Name	Position	PD Location	Effective Date	Salary	Account #
Barbara Sooy	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Andrea Spence	Instruction al Aide	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Kathy Syvarth	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Kelly Turner	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Katherine Watson	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Torrey Wilkerson	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234
Michael Zain	Teacher	MSP	June 11, 2015 & June 13, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 3 hours (\$90.00)	11-000-221-104-0000-234

50. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: HOW TO INCREASE THE RIGOR AND LANGUAGE PRODUCTION IN A WORLD LANGUAGE CLASSROOM:

Name	Position	Location	Effective Date	Salary	Account #
Lisa Barahona	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Kellie Carmen Davis	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

Name	Position	Location	Effective Date	Salary	Account #
Ji'On Duttweiler	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Janeth Jaramillo	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Cruz Morales	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Maria Oliverio	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Leticia Pescador	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234
Sandra Strazzeri	Teacher	PHS	May 6, 2015 May 13, 2015 May 20, 2015 May 27, 2015	\$30.00 per hour for 1.5 hours per session not to exceed 6 hours (\$180.00)	11-000-221-104-0000-234

51. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: EDCONNECT BUILDING ASSESSMENTS (MATH FOCUS):

Name	Position	Location	Effective Date	Salary	Account #
Debra Battle	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Velecia Bush	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Donna Champion	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Elizabeth Kandabarrow-Crist	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Carin Denman	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	Location	Effective Date	Salary	Account #
Rodger Fleming	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Monique Floyd	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sara Gonzalez	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Bruce Jones	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Daniel Piettro	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Sydney Simpson	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Barbara Sooy	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Susan Swezeny	Teacher	MSP	May 15, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

52. AFTERSCHOOL PROFESSIONAL DEVELOPMENT: STUDENT ENGAGEMENT GRADES 6-12:

Name	Position	Location	Effective Date	Salary	Account #
Lisa Barahona	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Adrian Birch	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Velecia Bush	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Karla Carmichael	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Michael Daly	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Maria Dattilo	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234
Dominick Dougherty	Teacher	MSP	June 1, 2015	\$30.00 per hour not to exceed 1.5 hours (\$45.00)	11-000-221-104-0000-234

Name	Position	Location	Effective Date	Salary	Account #
Latanya Elias	Teacher	MSP	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Michelle Ferretti	Teacher	MSP	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Renee Gensamer	Teacher	MSP	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Kathleen Russo	Teacher	MSP	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	
Sandra Strazzeri	Teacher	MSP	June 1, 2015	\$30.00 per hour	11-000-221-104-0000-234
				not to exceed 1.5	
				hours (\$45.00)	

PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS Workshop Board Mosting

Workshop Board Meeting Tuesday, April 21, 2015 MINUTES

The Superintendent of Schools recommends adoption of the following:

RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

1. Workshop/Conference Attendance:

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Gloradine Gause	Business Office	Public Purchasing Educational Forum	4/29/15 4/30/15	\$350.00 (registration)	11-000-251-500-0000-351
Elva Thomas	Business Office	Municipal Finance Administration	07/28/15 08/11/15 08/18/15	\$ 802.00 Registration \$ 37.20	11-000-251-500-0000-351 11-000-251-500-0000-351
			08/25/15 09/11/15	·	
Chalyse Whitland	Business Office	Public Purchasing Educational Forum	4/29/15 4/30/15	\$350.00 (registration)	11-000-251-500-0000-351
Elva Thomas	Business Office	Public Purchasing Educational Forum	4/29/15 4/30/15	\$350.00 (registration)	11-000-251-500-0000-351
Rick Byrd	Technology	IPhone & IPad Training	6/25/15	\$0.00	N/A
Daniel Emmert	PHS	NJ TESOL Spring Conference	5/15/15	\$139.00 (registration) \$64.48 (mileage) \$35.00 (membership)	20-241-200-500-0000-545 20-241-200-600-0000-545
Grizilda Tabora	PHS	NJ TESOL Spring Conference	5/15/15	\$139.00 (registration) \$64.48 (mileage) \$35.00 (membership	20-241-200-500-0000-545 20-241-200-600-0000-545
Cynthia McClendon	PHS	NJ TESOL Spring Conference	5/15/15	\$139.00 (registration) \$64.48 (mileage) \$35.00 (membership	20-241-200-500-0000-545 20-241-200-600-0000-545

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Marjorie Rose	PHS	NJ TESOL Spring Conference	5/15/15	\$139.00 (registration) \$64.48 (mileage) \$35.00 (membership	20-241-200-500-0000-545 20-241-200-600-0000-545
Clifford Moore	PHS	Effective Strategies for Working Successfully with Difficult & Disruptive Students	5/18/15	\$229.00 (registration)	15-000-240-500-0000-050
Stephen Katzen	PHS	Anti-Bullying School Safety Conference	5/27/15 5/28/15	\$200.00 (registration)	15-000-223-500-0000-050
Blake Boffa	PHS	Effective Strategies for Working Successfully with Difficult & Disruptive Students	5/18/15	\$229.00 (registration)	15-000-240-500-0000-050
Patricia Varallo	PHS	Increase Reading Skills of Students who Struggle (6-12)	5/20/15	\$229.00	15-000-240-500-0000-050
Debra Mossbrook	CST	Dyslexia-Working Effectively with students who have language based reading disabilities	4/22/15 5/27/15 6/9/15	\$40.00 (mileage)	11-000-219-500-0000-400
Amy Jolley	CST	Dyslexia-Working Effectively with students who have language based reading disabilities	4/22/15 5/27/15 6/9/15	\$40.00 (mileage)	11-000-219-500-0000-400
Virginia Baralus	CST	Adolescent Suicide & Depression	5/14/15	\$30.00 (registration) \$20.00 (mileage)	11-000-219-500-0000-400
Karin Farkas	CST	Introduction to Integrative Treatment of Complex Trauma in Adolescents	6/2/15	\$0.00	N/A
Martha Hoffnagle	DAP	Veteran Preschool Master Teachers	5/1/15	\$34.05 (mileage)	20-218-200-580-0000-234
Erika Baldwin	DAP	Veteran Preschool Master Teachers	5/1/15	\$34.05 (mileage)	20-218-200-580-0000-234
Martha Hoffnagle	DAP	Inclusion MaSter Teachers	5/22/15	\$34.05 (mileage)	20-218-200-580-0000-234
Kimairy Candelaria	DAP	Veteran Preschool Master Teachers	5/1/15	\$34.05 (mileage)	20-218-200-580-0000-234
Sheila Ceasar	DAP	Early Childhood Supervisors Meeting	3/31/15 4/1/15 *approved by Dr. Richens 3/23/14	\$123.92 (mileage)	20-218-200-580-0000-234
Sheila Ceasar	DAP	NJ DOE/OECE	6/15/15 *date change only	\$46.50 (mileage)	20-218-200-580-0000-234

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Patricia Dansby	DAP	Anti-Bullying Conference 2015	5/27/15 5/28/15	\$4.65 (mileage)	20-218-200-580-0000-234
Patricia Dansby	DAP	Distress/Suicide	5/14/15	\$4.65 (mileage)	20-218-200-580-0000-234
Nicole Digironimo	NMSS	NJ Wrap Around	4/24/15	\$40.00 (travel)	11-000-219-580-0000-400
Elizabeth Ingargiola	NMSS	What's New in First Grade?	5/18/15	\$235.00 (registration)	15-190-100-580-0000-085
Sonia Taggart	WAS	What's New in First Grade?	5/18/15	\$235.00 (registration)	15-000-223-500-0000-060
Michele McIntyre	WAS	Dyslexia-Working Effectively with students who have language based reading disabilities	4/22/15 5/27/15 6/9/15	\$40.00 (mileage)	11-000-219-500-0000-400
Candace Kelsey	LAS	Anti-Bullying School Safety Conference	5/27/15 5/28/15	\$200.00 (registration)	11-000-219-500-0000-400
Allison Cordivari	LAS	NJDOE Problem Solving & Communicating Mathematically	4/20/15 *approved by Dr. Richens 3/23/14	\$0.00	N/A
Allison Cordivari	LAS	NJDOE Operation with Fractions	4/2715	\$0.00	N/A
Y'tanya Gillespie	SMSS	Practical Strategies for Meeting the Rigorous Common Core State Standards for Reading Grades K-2	5/4/15	\$235.00 (registration)	15-000-223-580-0000-095
Shina Tiller	SMSS	Practical Strategies for Meeting the Rigorous Common Core State Standards for Reading Grades K-2	5/4/15	\$235.00 (registration) \$89.87 (mileage)	15-000-223-580-0000-095
Janida Del'lior	WAS	2015 Leadership Conference/Annual PTA	04/24/15	N/A	N/A
San Juana Palmer	WAS	2015 Leadership Conference/Annual PTA	04/24/15	N/A	N/A
Stephen L. Townsend	MSP	RAC-7 SY 15-16 SIP Tutorials Sessions	04/01/15	N/A	Superintendent Approved
Darryll Ramsey	MSP	RAC-7 SY 15-16 SIP Tutorials Sessions	04/01/15	N/A	Superintendent Approved
Christine Teeney	MSP	RAC-7 SY 15-16 SIP Tutorials Sessions	04/01/15	N/A	Superintendent Approved
Aaron Washington	MSP	RAC-7 SY 15-16 SIP Tutorials Sessions	04/01/15	N/A	Superintendent Approved
Reyna Hendricks	MSP	RAC-7 SY 15-16 SIP Tutorials Sessions	04/01/15	N/A	Superintendent Approved
Maria Hinkley	MSP	Current Tides and Future Waves in Nursing Practices	06/01/15	\$ 80.00	15-000-223-500-0000-055

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Christina Favre	WAS	From my Classroom to yours	05/20/15 date change only	7 ETTC Hours	ETTC Hours
Jamie Ford	WAS	NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Terre Alabarda	SMSS	Building Bridges for Language Learners New Brunswick, NJ	05/27/15 05/28/15	\$ 35.00 Membership Fee	20-241-100-600-0000-545
Rosa Aponte		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Susana Faulhaber		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Jessica Gaeckle		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Renee Gensamer		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Janeth Jaramillo		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Sanjuana Parmer		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Faith Penrose		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Lynn Planer		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Vanessa Ramirez		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Sandra Rosales		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 75.00 Registration \$ 64.48 Mileage	20-241-200-500-0000-545 20-241-200-500-0000-545
Gerardo Rios		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Cynthia Ruiz-Cooper		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Sonia Taggart		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Sandra Torres		NJTESOL Spring Conference, New Brunswick, NJ	05/28/15	\$ 75.00 Registration \$ 64.48 Mileage	20-241-200-500-0000-545 20-241-200-500-0000-545
Hernando Villafañe		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545
Michael Zain		NJTESOL Spring Conference, New Brunswick, NJ	05/27/15 presenter 05/28/15	\$ 179.00 Registration \$ 64.48 Mileage \$ 35.00 Membership Fee	20-241-200-500-0000-545 20-241-200-500-0000-545 20-241-100-600-0000-545

2. ACTIVITIES:

School/Program	Activity	Date	Cost	Account#	Time/Purpose
SMSS	Lean Green Clean Up Machine Assembly	06/02/15	0.00	N/A	K-2 9:00am 3-5 th Grade 10:00 am To promote environmental awareness
SMSS	Pleasantville Fire Department 5 th . Grade Field Day	06/04/15	0.00	N/A	8:30am-12:30pm To promote a sense of community and friendly competition.
SMSS	3 rd Annual Oratorical Competition	05/27/15	\$0.00	N/A	9:15am-10:45am To enhance public speaking and orally reporting on a researched project.
SMSS	3 rd Annual Oratorical Competition	04/29/15	\$0.00	N/A	9:15am-10:45am To enhance public speaking and persuasive argument.

School/Program	Activity	Date	Cost	Account#	Time/Purpose
SMSS	School Garden	05/20/15	\$0.00	N/A	Students will plant their vegetable crops under the direction of the Rutgers Extension Services Master Gardeners and Their teachers
SMSS	Honor Roll Luncheon	06/19/15	\$ 300.00	Student Activity Account # 0537	To recognize students who receive the Honor Roll for the 4th. marking period
SMSS	Honor Roll Luncheon	05/15/15	\$ 300.00	Student Activity Account # 0537	To recognize students who receive the Honor Roll for the 4th. marking period
LAS	The Raptor Project Assembly	05/26/15	\$ 850.00	15-190-100-800-0000-080	9:30-10:30 am Birds of Prey Educational Assembly
LAS	Hunters of The Sky Assembly	05/18/15	0.00	N/A	1:00-2:00pm Birds in Refuge and hands on Assembly
LAS	Alex's Lemonade Stand	04/29/15 04/30/15	\$ 50.00	# 15-190-100-800-0000-080	Raise funds for the Alex Lemonade Child Cancer Foundation
LAS	Mother's Day Tea Party	05/08/15	\$0.00	N/A	12:30pm-2:00pm Parents will go to classrooms where students will share writing about their mother's
LAS 3-5	Mommy and Me Breakfast	05/09/15	\$ 5.00 per person	PTO Account	8:30am-11:30am Promote parent involvement
LAS K-2	Mommy and Me Breakfast	05/09/15	\$ 5.00 per person	20-231-200-600-0010-545 Title I	8:30am-11:30am Promote parent involvement
LAS	Field Day	05/28/15	\$ 363.00	Activity Account # 540	Fun day of friendly competition
LAS	Teddy Bear Family Picnic	06/12/15	\$0.00	N/A	11:30am-2:00pm To encourage family reading time
LAS	Jeans Day for The Troops	05/21/15	\$0.00	N/A	Support our Troops and Veteran's
LAS	Talent Show Auditions & Rehearsals	05/01/15	\$0.00	N/A	3:00pm-5:00pm Students will rehearse for the talent show
LAS	4-5 National Honor Society Clean Up @ LAS	05/29/15	0.00	N/A	Encouraging students to be responsible for their community

School/Program	Activity	Date	Cost	Account#	Time/Purpose
WAS	Field Day	05/20/15	\$ 2,000.00	Activity Account # 536	To improve school climate
WAS	All Around the World Fashion Show	04/30/15	\$ 200.00	Student Activity Account # 536 For School T-Shirts for all students	5:30pm-8:00pm Staff and students show off fashion from various countries
WAS	All Around the World Fashion Show	04/30/15	\$ 200.00	Student Activity Account # 536	Learn around other countries and cultures
NMSS	Calligraphy Writing	04/28/15 04/29/15	\$0.00	N/A	Enhance the knowledge and history of Calligraphic Arts in the Delaware valley
NMSS	Parent Support for Autism	04/29/15	\$ 100.00	20-231-200-600-0010-545	5:00pm-6:00pm Parent social with information about the Faces of Autism and Autism Speaks.
PHS	Key Club School Recycling	04/29/15 Through 06/10/15	\$0.00	N/A	Key Club members will empty recycling bins in classrooms and offices
PHS	Key Club: Earth is Life Community Clean Up, School/Community Service Project	05/06/15	\$0.00	N/A	Key Club members will clean up school grounds
PHS	Key Club Teachers Pet	05/04/15 Through 05/08/15	\$0.00	N/A	7:40am-7:45am Each Day Celebrating Teacher Appreciation
PHS	Title I Parent Meeting	04/30/15	\$ 120.00	20-231-200-60000-10-545	Informational meeting about parent involvement in New Jersey Title I Schools
21st. Century CCLC C.A.R.E. Program	C.A.R.E. Program Basketball Event	06/13/15 06/14/15 06/15/15	\$0.00	N/A	12:00pm-5:00pm Ticket sales and concessions sales to benefit C.A.R.E.
MSP	Performing Arts All Star Assembly	06/05/15	\$0.00	N/A	1:45pm-3:20pm Celebrate Student Performances
MSP	Beauty & The Beast Dress Rehearsal	05/19/15 05/20/15	\$0.00	N/A	Rehearsal in Costume for upcoming play
MSP	Visual and Performing Arts Banquet	06/10/15	\$0.00	N/A	3:30pm-6:30pm Pizza party with awards celebrating the Visual and Performing Arts Club members

School/Program	Activity	Date	Cost	Account#	Time/Purpose
MSP	All Star Performance	06/05/15	\$0.00	N/A	6:00pm-9:00pm All Star Performance for parents and community
MSP	Intervention Selfie Social	05/01/15	\$0.00	N/A	2:47pm-3:15pm 30 Minute dance to celebrate positive behavior and support within our school
SMSS	Steered Straight, Inc.	12/15/15	\$ 900.00	15-190-100-320-0000-055	Approved by Superintendent on 12/15/15
SMSS LAS NMSS WAS	District Science Fair	06/08/15 Through 06/12/15	\$0.00	N/A	Students will display and present science fair projects.

3. FUNDRAISERS:

School	Activity	Start Date	End Date	Purpose
SMSS	Spring Pastel Color Day	04/29/15	04/29/15	Raise funds for the 2 nd . Grade class field trip
SMSS	P.T.O. Reading For Education	05/01/15	05/29/15	Raise funds for New Playground Equipment
LAS K-5	P.T.O. Mother's Day Flower Sale	05/08/15	05/08/15	Raise funds to purchase flowers for mother's in the community
MSP	Wear Your Favorite Spring Colors	05/01/15	05/01/15	Raise funds for 7th Grade trip to NYC
MSP	All Star Performance Ticket Sales	06/05/15	06/05/15	Raise funds for the Performing arts Club
PHS	Technology Club: Robotics Build	04/29/15	05/01/15	Raise funds to purchase a STEM approved robotic kit
PHS	Mr. Greyhound	04/24/15	04/24/15	Key Club fundraiser for prizes, scholarships & charitable donations.
21st. Century CCLC C.A.R.E. Program	C.A.R.E. Program Basketball Event	06/13/15	06/15/15	Ticket sales and concessions sales to benefit C.A.R.E. Program Income a grant requirement
MSP Drama Club	Movie Night Concessions	04/29/15	04/29/15	Raise funds for drama club supplies, events and fieldtrips.

4. FIELD TRIPS:

School	Activity	Location	Date	Cost	Account#
PHS	Atlantic County Teen Arts Festival	Hammonton, New Jersey	5/1/15	\$160.00 (registration) \$275.00 (transportation)	15-190-100-800-0000-050 15-000-270-512-0000-050
PHS	Atlantic County Teen Arts Festival	Hammonton, New Jersey	5/15/15	\$160.00 (registration)	20-241-100-600-0000-545
PHS	Atlantic Cape Community College	Mays Landing, New Jersey	5/7/15	\$543.66 (registration)	20-241-100-800-0000-545
PHS	Six Flags Great Adventure	Jackson, New Jersey	5/29/15		20-241-100-600-0000-545
LAS	Field Day	Pleasantville, NJ	6/4/15	\$30.00 (refreshments)	Student Activity Acct #540
LAS	Franklin Institute	Philadelphia, PA	5/21/15	\$1352.50 (registration) \$1850.00 (transportation) \$25.00 (lunch room fee) \$40.00 (parking fee)	15-000-270-512-0000-080 15-190-100-800-0000-080
LAS	Forsythe National Refuge	Ocean Ville, NJ	06/05/15	N/A	N/A
LAS 5 th . Grade	Historic Cold Spring Village	Cape May NJ	05/27/15	\$ 828.00	15-00-270-512-0000-080
WAS	Cape May Zoo	Cape May County, New Jersey	5/22/15	\$120.00 (parking fee)	Student Activity Acct # 536
SMSS	Fro Me A Party	Pleasantville, NJ	06/03/15	N/A	Funded by The Pleasantville Municipal Alliance
SMSS	Rain Forest Cafe	AC, NJ	06/06/15	N/A	Funded by The Pleasantville Municipal Alliance
C.A.R.E.	Liberty Science Center	Jersey, City NJ	07/24/15	\$ 1,350.00	20-290-100-800-0000-545

Resolutions

- **5.** Be it resolved that the Pleasantville Board of Education approve the Superintendents recommendation to reduce the cost of operating the facilities during the summer months. As a result the staff will work Monday through Thursday 8:00 am to 4:30 pm, with a 1/2 hour lunch break. Beginning Friday, June 26th, 2015.
- **6.** Approval of Pleasantville District employees to receive a massage from "Your Chiropractor, Inc." located in Northfield for a Teacher's Appreciation Day event. A medical massage therapist will come to the school during lunch time and give all teachers and staff a seated massage. There is no cost to the District. Below is a tentative schedule that is available:

Decatur Avenue	Tuesday, May 5, 2015	10:30 am-2 pm
WAS	Friday, May 8, 2015	10:30 am-2 pm
LAS	Tuesday, June 2, 2015	10:30 am-2 pm
Middle School	Friday, May 15, 2015	10:30 am-2 pm
High School	Tuesday, May 19, 2015	10:30 am-2 pm
South Main	Friday, May 26, 2015	10:30 am- 2 pm
North Main	Tuesday, May 29, 2015	10:30 am -2 pm

- 7. Approval of the Social Action Committee of Delta Sigma Theta to provide the 5th grade female students of North Main Street School with information and to engage them in a health activity during the assigned physical education period. The students will participate in dance activities and receive healthy snacks and materials about healthy eating. There is no cost to the district.
- **8.** Approval of the following North Main Street School Apple-Connect-ED Core Team members to make a site visit to Linden School District, Linden, NJ, on Thursday, April 30th: Teresa McGaney- Guy, Michael Dare-Gentile, Michael McCline, Brian Kavanagh, Renee Gensamer, Renee Alford and Dr. Leonard Fitts. Members will have the opportunity to observe, first hand, the implementation of one-on-one Apple devices.
- **9.** Approval for North Main Street School to apply for a grant from AT&T. Connected Nation, Inc. (CN) will work an independent third party non-profit organization to assist AT &T in fulfilling its commitment under the Connect ED Initiative. The grant will provide off-campus connectivity to the iPads.
- **10.** Approval additional students and chaperones to participate in the 1st Grade Storybook Land fieldtrip approved on 11/25/14. Additional students are based on increased enrollment and include students from SP/MD classroom which were inadvertently omitted. 12 additional people @ 13.95 per person = \$167.40. Account#15-190-100-580-0000-085.
- **11.** Approval of 4th and 5th grade students to participate in the 2015 East Coast Hurricane Awareness Tour sponsored by the National Weather Center at 9:00AM 1:30PM, on May 4, 2015. No cost for the district.
- **12.** Approval of the Workshop: Resources, One Stop Shopping (K-5), Presenter Tina Favre for (04/23/2015.) This workshop is designed to provide teachers with hands-on activities with resources to enhance their students' learning. The participants will walk away with tons of internet resources to reach all of your students.
- **13.** Approval of the workshop Adapting Engage NY Resources (ELA) Part 1 (5th-8th) Presenter Christine Teeney for (04/23/2015). The workshop will focus on adapting Engage NY ELA resources to suit a wide-array of learners. Participants will examine lesson plan modifications for ELL students and special education students, as well as explore pacing issues and the use of complex text with scaffolds.

- **14.** Approval of the workshop: Adapting Engage NY Resources (ELA) Part 1 (9th-12) Presenter Constance Days for (04/23/2015). This workshop will focus on adapting Engage NY resources in ELA. Participants will have the opportunity to design their own modification plan for specific modules, view and revise assessments, and adjust pacing.
- **15.** Approval of the Workshop: Adopting Engage NY Resources (ELA) Part 2 (5th -8th) Presenter Christine Teeney for (04/24/2015). This workshop will serve as a follow up opportunity to further focus on adapting Engage NY resources in ELA. In part 2 of the series, participants will have the opportunity to design their own modification plan, view and revise assessments, and adjust pacing.
- **16.** Approval of the Workshop: Adopting Engage NY Resources (ELA) Part 2 (9th -12th) Presenter Constance Days for (04/24/2015). In this follow up workshop, participants will finalize the modification plan for specific modules, view and revise assessments, and adjust pacing.
- **17.** Approval of the Workshop: Literacy across the Curriculum Setting and Implementing Goals for Grades 6th -8th. The Presenter will be Christine Teeney for (04/30/2015). In this workshop teachers will view literacy data reports and work collaboratively to set goals and implement them to promote literacy.
- **18.** Approval of the Workshop: Social Studies: Infusing Literacy into the Curriculum Part 1 (5th-8th) presenter Christine Teeney for (05/01/2015). This workshop will enable teachers the opportunity to review curriculum. Collaboratively teachers will work in teams of two or more to work on identifying resources, modifying pacing, and infusing literacy into the 6th-8th grade social studies curriculum.
- **19.** Approval of the Workshop: Ed-Connect Building a Test Bank for ELA (K-5th) presenter Kaisha Medina for (05/02/2015). This workshop will focus on building a test bank to help with linking resources to the lesson plans to assist with instructional best practices for weekly assessments in ELA. Each question must focus on a major standard and/or theme that are tested in benchmarks 1-2. Each participant should develop at least 5-10 questions for the test bank for Unit 1 and Unit 2 common core standards.
- **20.** Approval of the Workshop: Data Analysis and Curriculum Navigation with Ed-Connect (5th-12) presenter Daryl Ramsey for (05/07/2015). This workshop will focus on analyzing data using various Ed-Connect reports. Participants will explore how to locate resources and align them to their lessons and standards.
- 21. Approval of the Workshop: Social Studies: Infusing Literacy into the Curriculum Part 2 (5th-8th) presenter Christine Teeney for (05/08/2015). This workshop will serve as a follow up opportunity to give teachers the chance to review curriculum for the 2015-2016 school year. Collaboratively teachers will work in teams of two or more to work on revising benchmark exams to reflect the adjusted pacing and the infusion of literacy into the curriculum.
- **22.** Approval of the Workshop: Ed-Connect Building Assessments for ELA part 1 (2nd -5th) presenter Kaisha Medina for (05/11/2015). In this training, teachers will learn how to create a Test Manually on Ed-Connect. Participants will explore how to build multiple choice, open response, matching questions. Teachers must bring with them a sample exam and answer key to participate.
- 23. Approval of the Workshop: ELA Performance Tasks for Unit 1 (K-5th) presenter Kaisha Medina for (05/13/2015). This workshop will focus on developing performance assessment that correlate with the Unit 1 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 1.

- **24.** Approval of the Workshop: Ed-Connect: Building Assessments for (5th-8th) presenter Christine Teeney for (05/15/2015). In this training, teachers will learn how to create an Express Test and how to create a Test Manually on Ed-Connect. Participants will explore how to build multiple choice, open response, inline response, matching, drag/drop, and hot spot items to prepare students for PARCC. Teachers must bring with them a sample exam and answer key to participate.
- **25.** Approval of the Workshop: Ed-Connect: Building a Test Bank for ELA Part II for (K-5th) presenter Kaisha Medina for (05/16/2015). This workshop will focus on building a test bank to help with linking resources to the lesson plans to assist with instructional best practices for weekly assessments in ELA. Each question must focus on a major standard and/or theme that are tested in benchmarks 3-4. Each participant should develop at least 5-10 questions for the test bank for Unit 1 and Unit 2 common core standards.
- **26.** Approval of the Workshop: Ed-Connect Building Assessments for ELA Part 2 for (2nd-5th) presenter Kaisha Medina for (05/18/2015). In this training, teachers will learn how to create a Test Manually on Ed Connect. Participants will explore how to build inline response and task questions. Teachers must bring with them a sample exam and answer key to participate. In addition, teachers will build at least 5 questions using the skills learned in Part 1 & 2.
- 27. Approval of the Workshop: ELA Performance Task for Unit 2 for (k-5th) presenter Kaisha Medina for (05/20/2015). This workshop will focus on developing performance assessment that correlate with the Unit 2 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 2.
- **28.** Approval of the Workshop: How to Effectively Communicate with your Non-English Speaking Students and Parents for (9th -12th) presenter Renee Gensamer for (05/5/2015, 05/12/2015, 05/19/2015 and 05/26/2018). This series of workshops will help you understand the different cultures and languages in your classroom. It will help to prepare you to effectively communicate through role play with your parents and students whose first language is not English. From the first day of school to the last.
- **29.** Approval of the Workshop: How to Effectively Communicate with your Non-English Speaking Students and Parents for (6th -8th) presenter Renee Gensamer for (05/7/2015, 05/14/2015, 05/21/2015 and 05/28/2018). This series of workshops will help you understand the different cultures and languages in your classroom. It will help to prepare you to effectively communicate through role play with your parents and students whose first language is not English. From the first day of school to the last.
- **30.** Approval of the Workshop: ELA Performance Task for Unit 3 (K-5) presenter Kaisha Medina for (05/27/2015). This workshop will focus on developing performance assessment that correlate with the Unit 3 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 3.
- **31.** Approval of the Workshop: Understanding Engage NY: Math Focus-Eureka (6th-12th) presenters Darryll Ramsey and Lindsey Marchesani for (05/28/2015). This workshop will focus on unpacking the Engage NY curriculum and finding ways to modify instruction for effective classroom usage.
- **32.** Approval of the Workshop: Ed Connect Building Assessments for ELA Part 3 (2nd-5th) presenters Kaisha Medina for (06/01/2015). In this training, teachers will learn how to create a Test Manually on Ed Connect. Participants will explore how to build drag and drop and click, stick, click, drop. Teachers must bring with them a sample exam and answer key to participate. In addition, teachers will build at least 5 questions using the skills learned in Part 1-3.

- **33.** Approval of the Workshop: Adapting Engage NY Lesson Modification and Resources (Math) Part I for (9th-12th) presenter Lindsey Marchesani for (06/01/2015). The first workshop will focus on adapting Engage NY resources in Math. Participants will have the opportunity to design their own modification plan for specific modules, view and revise assessments, and adjust pacing.
- **34.** Approval of the Workshop: Adapting Engage NY Lesson Modification and Resources (Math) Part 2 for (9th-12th) presenter Lindsey Marchesani for (06/03/2015). In the second workshop, participants will finalize the modification plan for specific modules, view and revise assessments, and adjust pacing.
- **35.** Approval of the Workshop: Student Workspaces in School-net (K-12th) presenter Jeffrey Laster for (06/02/2015). Teachers can use student workspaces to view and comment on the work their students create. At the conclusion of this training, teachers will be able to do the following: locate individual student workspaces; create portfolios, view and manage content, add comments to student workspaces as well as view student comments.
- **36.** Approval of the Workshop: ELA Performance Task for Unit 4 (K-5) presenter Kaisha Medina for (06/03/2015). This workshop will focus on developing performance assessment that correlate with the Unit 4 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 4.
- **37.** Approval of the Workshop: Co-authoring and Scheduling tests in Ed-Connect (K-12th) presenter Jeffrey Laster for (06/04/2015). This workshop will focus on teachers understanding the Co-authoring process, how to create Co-authored test, Edit a test, and how to share Co-authored tests with Test Central. Scheduling Tests: Before administering a test to students, one must schedule and assign it. Teachers at the conclusion of this training will have a greater understanding of the test stages, how to locate a test for scheduling, schedule a test, and assign it to students.
- **38.** Approval of the Workshop: Ed-Connect Building Assessments for ELA Part 4 (2nd-5th) presenter Kaisha Medina for (06/08/2015). In this training, teachers will learn how to create a Test Manually on Ed-Connect. Participants will explore how to build hot spot, drag and drop, and click, stick, click, drop. Teachers must bring with them a sample exam and answer key to participate. In addition, teachers will build at least 5 questions using the skills learned in Parts 1-4.
- **39.** Approval of the Workshop: Welcome to Power Source (K-12th) presenter Jeffrey Laster for (06/09/2015). Power Source is a community-focused customer support portal for all Pearson School Systems products. By the end of this workshop, participants will have a working understanding on how to connect and collaborate with more than 318,900 members by discussion threads. Access to more than 150 interactive and entertaining tutorials that are immersive and comprehensive web-based distance learning courses.
- 40. Approval of the Workshop: Optimizing Teaching and Learning through the Framework of *Universal Design form Learning*. (UDL) (K-5) presenter Victoria Williamson for (06/09/2015). Universal design for learning (UDL) is a framework to improve and optimize teaching and learning based on scientific insights into how humans learn. The UDL is a framework design that is based upon cognitive neuro-scientific principles. UDL, developed by CAST, has become one of the most widely, nationally accepted set of guidelines that enable educators to amplify the learning experience and reach the variability of all learners.
- 41. Approval of the Workshop: Optimizing Teaching and Learning through the Framework of *Universal Design form Learning*. (UDL) (6th-12th) presenter Victoria Williamson for (06/11/2015). Universal design for learning (UDL) is a framework to improve and optimize teaching and learning based on scientific insights into how humans learn. The UDL is a framework design that is based upon cognitive neuro-scientific principles. UDL, developed by CAST, has become one of the most widely, nationally accepted set of guidelines that enable educators to amplify the learning experience and reach the variability of all learners.

- **42.** Approval of the Workshop: Incorporating Resources into the Science Curriculum (9th-12th) presenter Lindsey Marchesani for (06/08/2015 and 06/10/2015). This workshop give the teachers a chance to review and become familiar with the Next Generation Science Standards. Using these standards, and curriculum documents, the team find and/or create a bank of resources to align with the curriculum for the high school courses. These resources will be then uploaded on ED-Connect.
- **43.** Approval of the Workshop: Incorporating Resources into the Science Curriculum (K-5th) presenter Allison Cordivari for (06/16/2015 and 06/17/2015). This workshop give the teachers a chance to review and become familiar with the Next Generation Science Standards. Using these standards, and curriculum documents, the team find and/or create a bank of resources to align with the curriculum for the Kindergarten through fifth grade courses. These resources will be then uploaded on ED-Connect.
- **44.** Approval of the Workshop: Technology for the Performing Arts and Creative Minds (K-12th) presenter Aaron Washington for (06/11/2015 and 06/13/2015). In this workshop teachers will have hands on experiences creating multimedia presentations using photo shop, movie maker, audacity etc.
- **45.** Approval of the Workshop: How to increase the rigor and language production in a World Language classroom (K-12) presenter Renee Gensamer for (05/6/2015, 05/13/2015, 5/20, 2015 and 5/27/2015). This series of workshops will allow the participants to develop a series **of** language activities for the World Language classroom that takes into count the unique population of the Pleasantville District. These activities will be used to increase the rigor and language production of our general education students to reach the 21st century skills related to a second language acquisition.
- **46.** Approval of the Workshop: Ed-Connect Building Assessments (Math Focus) (5th-8th) presenter Daryl Ramsey for (05/15/2015). In this training, teachers will learn how to create an Express Test and how to create a Test Manually on Ed-Connect. Participants will explore how to build multiple choice, open response, inline response, matching, drag/drop, and hot spot items to prepare students for PARCC. Teachers must bring with them a sample exam and answer key to participate.
- **47.** Be it resolved that the Pleasantville Board of Education approve the required Curriculum revisions/updates as noted below:

Work Product #1

Completion of the missing units of study. These units are contained in the excel worksheet as blank. This should be the first curricular work to be completed. They must be finished for the June 30 review.

Others units must have more comprehensive sections and should be revised- these are in yellow. This is often in the instruction and planning section which should include a more detailed break-down of topics and days allotted. It should not list *Units 5-10- 4 weeks*. Please try to break the information down further.

Others are missing the 21st century skills section. If you used an early template, you may have to add this section in.

The additional columns have been added. These include:

- Standard alignment at the unit level
- Course description
- Unit description
- Course mapping

The deadline for the standard alignment is listed as April 24. @ 9 coaches at \$30.00 per hour, per person. Not to exceed 30 hours or \$8100.00. Deadline is April 24^{th} , 2015.

Work Product 2

The middle school science opted to use the Howard County science curricula as a basis for revisions to the science progression at their level, per their principal. This will focus on earth science at the 6th grade level, life science at the 7th grade level, and physical science at the 8th grade level. They worked to outline the first pages of all units and will fill in related areas during our next session. The high school teachers worked on environment science, physics, and biology. We need some additional support for principles of science and chemistry.

@ 9 coaches at \$30.00 per hour, per person. Not to exceed 10 hours. Deadline is June 30th, 2015.

48. Approval of the following Professional Development :

Date	Workshop	Description	Grade Levels	Location	Presenter
April 30 3:30- 5:00	Literacy Across the Curriculum: Setting and Implementing Goals for Grades 6-8	In this workshop teachers will view literacy data reports and work collaboratively to set goals and implement them to promote literacy.	5-8	MSP C204	Christine Teeney
May 1 3:30-5:00	Social Studies: Infusing Literacy into the Curriculum Part 1	This workshop will enable teachers the opportunity to review curriculum for the 2015-2016 school year. Collaboratively teachers will work in teams of two or more to work on identifying resources, modifying pacing, and infusing literacy into the 6th-8th grade social studies curriculum.	5-8	MSP C204	Christine Teeney
May 2 8:30-12:30	Ed Connect: Building a Test Bank for ELA	This workshop will focus on building a test bank to help with linking resources to the lesson plans to assist with instructional best practices for weekly assessments in ELA. Each question must focus on a major standard and/or theme that are tested in benchmarks 1-2. Each participant should develop at least 5-10 questions for the test bank for Unit 1 and Unit 2 common core standards.	K-5	NMSS	Kaisha Medina

May 7 3:30- 5:00	Data Analysis and Curriculum Navigation with Ed Connect	This workshop will focus on analyzing data using various Ed Connect reports. Participants will explore how to locate resources and align them to their lessons and standards.	5-12	MSP C204	Darryll Ramsey
May 8 3:30-5:00	Social Studies: Infusing Literacy into the Curriculum Part 2	This workshop will serve as a follow up opportunity to give teachers the chance to review curriculum for the 2015-2016 school year. Collaboratively teachers will work in teams of two or more to work on revising benchmark exams to reflect the adjusted pacing and the infusion of literacy into the curriculum.	5-8	MSP C204	Christine Teeney
May 11 3:30-5:00	Ed Connect: Building Assessments for ELA Part 1	In this training, teachers will learn how to create a Test Manually on Ed Connect. Participants will explore how to build multiple choice, open response, matching questions. Teachers must bring with them a sample exam and answer key to participate.	2-5	NMSS	Kaisha Medina
May 13 3:30-5:00	ELA Performance Task for Unit 1	This workshop will focus on developing performance assessment that correlate with the Unit 1 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 1.	K-5	NMSS	Kaisha Medina
May 15 3:30-5:00	Ed Connect: Building Assessments	In this training, teachers will learn how to create an Express Test and how to create a Test Manually on Ed Connect. Participants will explore how to build multiple choice, open response, inline response, matching, drag/drop, and hot spot items to prepare students for PARCC. Teachers must bring with them a sample exam and answer	5-8	MSP C204	Christine Teeney

		key to participate.			
May 16 8:30-12:30	Ed Connect: Building a Test Bank for ELA Part II	This workshop will focus on building a test bank to help with linking resources to the lesson plans to assist with instructional best practices for weekly assessments in ELA. Each question must focus on a major standard and/or theme that are tested in benchmarks 3-4. Each participant should develop at least 5-10 questions for the test bank for Unit 1 and Unit 2 common core standards.	K-5	NMSS	Kaisha Medina
May 18 3:30-5:30	Ed Connect: Building Assessments for ELA Part 2	In this training, teachers will learn how to create a Test Manually on Ed Connect. Participants will explore how to build inline response and task questions. Teachers must bring with them a sample exam and answer key to participate. In addition, teachers will build at least 5 questions using the skills learned in Part 1 & 2.	2-5	NMSS	Kaisha Medina
May 20 3:30-5:30	ELA Performance Task for Unit 2	This workshop will focus on developing performance assessment that correlate with the Unit 2 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 2.	K-5	NMSS	Kaisha Medina
May 5, 7, 12,14, 19, 21, 26, 28 3:30-5:00	How to effectively communicate with your non-English speaking students and parents.	This series of workshops will help you understand the different cultures and languages in your classroom. It will help to prepare you to effectively communicate through role play with your parents and students whose first language is not English. From the first day of school to the last.	All Staff Members	PHS	Renee Gensamer

May 27 3:30-5:30	ELA Performance Task for Unit 3	This workshop will focus on developing performance assessment that correlate with the Unit 3 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers will build a performance assessment with a rubric for Unit 3.	K-5	NMSS	Kaisha Medina
May 28 3:30- 5:30	Understanding Engage NY: Math Focus- Eureka	This workshop will focus on unpacking the Engage curriculum and finding ways to modify instruction for effective classroom usage.	5-12	MSP/PHS	Darryll Ramsey & Lindsey Button
June 1 3:30-5:30	Ed Connect: Building Assessments for ELA Part 3	In this training, teachers will learn how to create a Test Manually on Ed Connect. Participants will explore how to build drag and drop and click, stick, click, drop. Teachers must bring with them a sample exam and answer key to participate. In addition, teachers will build at least 5 questions using the skills learned in Part 1-3.	2-5	NMSS	Kaisha Medina
June 2 3:30-5:30	Student Workspaces in School-net	Teachers can use student workspaces to view and comment on the work their students create. At the conclusion of this training, teachers will be able to do the following: locate individual student workspaces; create portfolios, view and manage content, add comments to student workspaces as well as view student comments.	ALL		Jeffrey Laster
June 3 3:30-5:30	ELA Performance Task for Unit 4	This workshop will focus on developing performance assessment that correlate with the Unit 4 common core standards. Teachers will learn how to integrate interdisciplinary lessons with Social Studies and Science while focusing on the major standards. Teachers	K-5	NMSS	Kaisha Medina

		will build a performance assessment with a rubric for Unit 4.			
June 4 3:30-5:30	Co-authoring and Scheduling tests in Ed Connect:	This workshop will focus on teachers understanding the Co-authoring process, how to create Co-authored test, Edit a test, and how to share Co-authored tests with Test Central. Scheduling Tests: Before administering a test to students, one must schedule and assign it. Teachers at the conclusion of this training will have a greater understanding of the test stages, how to locate a test for scheduling, schedule a test, and assign it to students.			Jeffrey Laster
June 8 3:30-5:30	Ed Connect: Building Assessments for ELA Part 4	In this training, teachers will learn how to create a Test Manually on Ed Connect. Participants will explore how to build hot spot, drag and drop, and click, stick, click, drop. Teachers must bring with them a sample exam and answer key to participate. In addition, teachers will build at least 5 questions using the skills learned in Parts 1-4.	2-5	NMSS	Kaisha Medina
June 9 3:30-5:30	Welcome to Power Source	Power Source is a community- focused customer support portal for all Pearson School Systems products. By the end of this workshop, participants will have a working understanding on how to connect and collaborate with more than 318,900 members by discussion threads Access to more than 150 interactive and entertaining tutorials that are immersive and comprehensive web-based distance learning courses	ALL		Jeffrey Laster

June 9 th 3:30-5:00		Universal design for learning (UDL) is a framework to improve and optimize teaching and learning based on scientific insights into how humans learn. The UDL is a	K-5	SMSS 112	
June 11 th 3:30-5:00	Optimizing teaching and learning through the framework of Universal Design form Learning (UDL)	framework design that is based upon cognitive neuro-scientific principles. UDL, developed by CAST, has become one of the most widely, nationally accepted set of guidelines that enable educators to amplify the learning experience and reach the variability of all learners.	6-12	MSP A121	Victoria Williamson
June16 & 17 3:30 to 5:00	Incorporating resources into the Science Curriculum aligned to the Next Generation Science Standards	This workshop give the teachers a chance to review and become familiar with the Next Generation Science Standards. Using these standards, and curriculum documents, the team find and/or create a bank of resources to align with the curriculum for the kindergarten through fifth grade. These resources will be then uploaded on ED-Connect.	K-5	LAS Computer Lab	Allison Cordivari
	6 Traits of Writing	In this workshop the teachers will have hands on experiences using the 6 traits of writing.	K-5	NMSS	Renee Alford or Tim Kelly
	Technology for the Performing Arts and creative minds	In this workshop teachers will have hands on experiences creating multimedia presentations using photo shop, movie maker, audacity etc.	K-12	MSP	(Aaron Washington or Tara Esposito)
	Wilson's training	This is an intense training with the goal of certification for teachers in the Wilson program.	K-2	SMSS	

How to increase the rigor and language production in a World Language classroom?	This series of workshops will allow the participants to develop a series of language activities for the World Language classroom that takes into count the unique population of the Pleasantville District. These activities will be used to increase the rigor and language production of our general education students to reach the 21st century skills related to a second language acquisition.	K-12	Carmen Kellie Davis/ Renee Gensamer
--	--	------	---

Mrs. Bernice (Sandy) Couch	 Ms. Sharnell Morgan	
Mr. Lawrence A. Davenport	 Ms. Ethel Seymore	
Mr. Johnny McClellan	 Ms. Carla Thomas	
Ms. Sylvia Ladrón	 Ms. Doris Graves	
Mr. Paul Moore		

Approved by the Superintendent and State Monitor for 04/21/2015 no action required:

A. Workshops/Conferences

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Allison	LAS	NJDOE in Modeling K-5	03/27/15	N/A	N/A
Cordivari	Coach				
Nanette	C&I	Are you On Target With Your	03/24/15	0.00	N/A
Stuart-Pitts		Observations	03/26/15		
Cynthia	WAS	2015 Atlantic County Governor's	04/23/15	\$ 28.00	11-000-230-610-0000-232
Ruiz-Cooper		Educator of the Year Recognition			
		Luncheon			
Steven	Truancy	Resources to Support Youth	04/15/15	\$ 20.00	11-000-219-580-0000-400
Mitchell		Experiencing Homelessness		Mileage	
Ernestine	Truancy	Resources to Support Youth	04/15/15	\$ 20.00	11-000-219-580-0000-400
Smith		Experiencing Homelessness		Mileage	
Stephen	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Townsend		Millville, New Jersey		Mileage	
Rayna	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Hendricks		Millville, New Jersey		Mileage	
Craig	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Polite		Millville, New Jersey		Mileage	
Lurraine	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Randall		Millville, New Jersey		Mileage	
Ninette	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Phillips		Millville, New Jersey		Mileage	
Linda	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Richards		Millville, New Jersey		Mileage	
Latanya	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Ellis		Millville, New Jersey		Mileage	
Monica	MSP	AVID Showcase	04/16/15	\$ 39.98	15-000-223-500-0000-055
Foti		Millville, New Jersey		Mileage	

B. Approval of the Following Professional Development Days:

Date	Workshop	Description	Grade Levels	Location	Presenter
April 23 3:30-5:00	Resources, One Stop Shopping	Resources, Resources, Resources. The participants will walk away with tons of internet resources to reach all of your students.	K-5	WAS	Tina Favre
April 23 3:30-5:00	Adapting Engage NY Resources (ELA) Part 1	The workshop will focus on adapting Engage NY ELA resources to suit a wide-array of learners. Participants will examine lesson plan modifications for ELL students and special education students, as well as explore pacing issues and the use of complex text with scaffolds.	5-8	MSP C204	Christine Teeney
April 23 2:45-4:45	Adapting Engage NY Resources	This workshop will focus on adapting Engage NY resources in ELA. Participants will have the	9-12	PHS	Constance Days

	(ELA) Part 1	opportunity to design their own modification plan for specific modules, view and revise assessments, and adjust pacing.			
April 24 2:45-4:45	Adapting Engage NY Resources (ELA) Part 2	In this follow up workshop, participants will finalize the modification plan for specific modules, view and revise assessments, and adjust pacing.	9-12	PHS	Constance Days
April 24 3:30-5:00	Adapting Engage NY Resources (ELA) Part 2	This workshop will serve as a follow up opportunity to further focus on adapting Engage NY resources in ELA. In part 2 of the series, participants will have the opportunity to design their own modification plan, view and revise assessments, and adjust pacing.	5-8	MSP C204	Christine Teeney

C. Field Trips

School	Activity	Location	Date	Cost	Account Number
PHS	Sexting Symposium	AC High School	04/20/15	0.00	N/A
LAS	Watch Movie Home	Franks Theaters Tilton 9 Northfield, NJ	04/17/15	\$ 762.00 Tickets \$ 405.00 Snacks Total \$ 1, 167.00	15-190-100-800-0000-080
PHS	ACCC College Awareness Day	ACCC Mays-Landing Campus	04/24/15	0.00	N/A
C.A.R.E.	Pleasantville Fire Department	Pleasantville, NJ	04/7/15	0.00	N/A

Resolution to waive the Facilities Usage fee for the Pleasantville Jokers and Autism Awareness Walk activities as presented on the Facilities Usage Report.

Motion by: <u>Mrs. Ethel Seymore</u>	_ Second by: _	Mrs. Bernice (Sandy) Couch	Yea: <u>X</u>
Roll Call:			
Mrs. Bernice (Sandy) Couch	<u>Yes</u>	Ms. Sharnell S. Morgan	Yes
Mr. Lawrence A. Davenport	Yes	Mrs. Ethel Seymore	Yes
Ms. Silvia Landron	Yes	Mrs. Carla Thomas	Yes
Mr. Johnny McClellan	Absent	Mrs. Doris V. Graves	Yes
Mr. Paul Moore, Jr.	Yes		
MOTION BASSED			

MOTION PASSED

Mr. Kelvin Cherry, PHS Principal, addressed the Board and public regarding the graduation process and the efforts that are being made to ensure graduation, as appropriate. Parents have been notified of students' progress.

Mr. Nestor Smith and Mr. Jim Carroll were acknowledged as new District Attorneys.

Dr. Lester Richens, State Monitor, announced his reassignment to another position within Monmouth County.

Dr. Richens introduced Mr. Terrence Crowley, former Executive County Superintendent, as the District's new State Monitor.

Mr. Crowley addressed the Board and public.

The Education Commissioner determines how many days a week that the State Monitor will be in district.

Continued from page 2.....

- 8. Public Comments. Please limit comments to (5) minutes and all comments should be courteous and respectful.
 - *Darlene Bev-Blocker
 - *David Callaway
 - *Joanne Famularo
 - *Marion Derr
 - *Ernestine Smith
- 9. Motion to go into Executive Session Board President, Mrs. Doris V. Graves

Motion by <u>Mis. Oriamen Morgan</u> Occord by <u>Mis. Oana michas</u>	Motion by!	Ms. Sharnell Morgan	Second by	Mrs. Carla Thomas
--	------------	---------------------	-----------	-------------------

10. Executive Session

Motion by Ms. Sharnell Morgan and Seconded by Mrs. Carla Thomas at 8:07 p.m., it is hereby resolved that the Pleasantville Board of Education may go into closed or private session from which the public shall be excluded in accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The following subjects shall be discussed on this date in the session of the Board closed to the public: PERSONNEL, PUPIL MATTERS, PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the discussion in closed session will be disclosed to the public at this time or a future meeting of the Board when it is no longer necessary to maintain the confidential nature of the items discussed.

MOTION PASSED 11. Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Absert Mrs. Ethel Seymore Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Yes Mrs. Carla Thomas Yes Mrs. Johnny McClellan Absent Mrs. Doris V. Graves Yes Mr. Paul Moore, Jr. Yes MOTION PASSED 12. Reconvene Board Meeting at 10:00 p.m Board President, Mrs. Doris V. Graves Motion by: Mr. Paul Moore Second by: Mrs. Carla Thomas Yea: X Roll Call:		ha Thompkins, Jr. iness Administrator/Board Secr	retary	Date				
Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Abset Mr. Lawrence A. Davenport Absent Mrs. Ethel Seymore Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Yes Mrs. Doris V. Graves Mrs. Doris V. Graves Yes Mrs. Doris V. Graves Motion to Adjourn the Meeting at 10:00 p.m Board President, Mrs. Doris V. Graves. Motion by: Mr. Paul Moore Second by: Mrs. Carla Thomas Yes X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Abset Mrs. Bernice (Sandy) Couch Yes Mrs. Ethel Seymore Yes Mrs. Ethel Seymore Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Yes Mrs. Doris V. Graves Yes	RESPECTFULLY SUBMITTED BY:							
Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Abset Mr. Lawrence A. Davenport Absent Mrs. Ethel Seymore Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Yes Mrs. Doris V. Graves Mrs. Doris V. Graves Yes Mrs. Doris V. Graves Motion to Adjourn the Meeting at 10:00 p.m Board President, Mrs. Doris V. Graves. Motion by: Mr. Paul Moore Second by: Mrs. Carla Thomas Yes X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Abset Mrs. Bernice (Sandy) Couch Yes Mrs. Ethel Seymore Yes Mrs. Ethel Seymore Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Yes Mrs. Doris V. Graves Yes								
MOTION PASSED 11. Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Mrs. Ethel Seymore Yes Mrs. Silvia Landron Yes Mrs. Carla Thomas Yes Mrs. Carla Thomas Yes Mrs. Doris V. Graves Mr. Johnny McClellan Absent Mrs. Doris V. Graves Yes Mr. Paul Moore, Jr. Yes MOTION PASSED 12. Reconvene Board Meeting at 10:00 p.m Board President, Mrs. Doris V. Graves Motion by: Mr. Paul Moore Second by: Mrs. Carla Thomas Yea: X		Mrs. Bernice (Sandy) Couch Mr. Lawrence A. Davenport Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr.	osent es osent	Mrs. Ethel Seymore Mrs. Carla Thomas	Yes Yes			
Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Absert Mrs. Lawrence A. Davenport Absent Mrs. Ethel Seymore Yes Ms. Silvia Landron Yes Mrs. Carla Thomas Yes Mr. Johnny McClellan Absent Mrs. Doris V. Graves Yes Mr. Paul Moore, Jr. Yes MOTION PASSED	13.	Motion by: Mr. Paul Moore			Yea: <u>X</u>			
Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Ms. Sharnell S. Morgan Mrs. Ethel Seymore Mrs. Ethel Seymore Mrs. Silvia Landron Yes Mrs. Carla Thomas Mrs. Carla Thomas Mrs. Johnny McClellan Absent Mrs. Doris V. Graves Mrs. Paul Moore, Jr. Yes	12.	Reconvene Board Meeting at 10.	1:00 p.m Board Presi	dent, Mrs. Doris V. Graves				
 MOTION PASSED 11. Motion to come out of Executive Session - Board President, Mrs. Doris V. Graves Motion by: Mrs. Carla Thomas Second by: Ms. Silvia Landron Yea: X 		Mrs. Bernice (Sandy) Couch Mr. Lawrence A. Davenport Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr.	bsent es bsent	Mrs. Ethel Seymore Mrs. Carla Thomas	Yes Yes			
MOTION PASSED		Motion by: Mrs. Carla Thom			Yea: X			
Mrs. Bernice (Sandy) Couch Mr. Lawrence A. Davenport Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Yes Mrs. Ethel Seymore Mrs. Carla Thomas Yes Mrs. Doris V. Graves Yes	11	Mr. Lawrence A. Davenport Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. MOTION PASSED	es es bsent es	Mrs. Ethel Seymore Mrs. Carla Thomas Mrs. Doris V. Graves	Yes Yes			

ET/tp